VendorVendor NameDate 08/01/19Ck # 050593EC001ECORP CONSULTING, INC

nvoice ID	Inv Date	Invoice Description	Gross	Discount	Total
	Jul 23 2019 Jul 31 2019	SUNNY ORLAND TRUCK WASH AND ANNEXATION PRO Planning Services	4,793.17 4,570.20		4,793.17 4,570.20
					*
		•			
			NK 9,369-503/7232		

CITY OF ORLAND

815 FOURTH ST. ORLAND, CA 95963

PAY********9,363*DOLLARS*AND*37*CENTS**

CHECK DATE PAY EXACTLY
08/01/19 *****9,363.37*

No.

TO THE ORDER OF

ECORP CONSULTING, INC 2525 WARREN DRIVE ROCKLIN CA 95677 TWO SIGNATURES REQUIRED FOR AMOUNTS OVER \$1000

Bruce Y. Reundlen Dupy Dulle J

	d by requesting depart nitted: 7/31/19	ment:			
Vendor#	ECO01				
Make warra	ant payable to:	ECORP Con	sulting		
Address:					
City and St	ate:				
Invoice # o	r Statement Da	te: 87665			
Description	of Item(s) pure	chased: Plan	ning Services		
00	5060	210	3,937.70		
35	6835	210	63.25		
35	6836	210	63.25		
35	6837	210	63.25		
35	6840	210	63.25		
35	6845	210	63.25		
35	6850	210	63.25		
35	6855	210	63.25		
35	6860	210	63.25		
26	5300	210	63.25		
27	5400	210	63.25		
Amount of F	Request:		\$4,570.20		
If the invoi	ce did not incl	ude CA sale	s tax-please chec	k this box □	
Authorizing	Signature:		ARC		
					

To be completed by Finance:

Date received:

Date paid:

Warrant Number:

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

July 24, 2019

Project No: Invoice No: 2017-161.01 87665

City of Orland 815 Fourth Street Orland, CA 95963

95963 PRC

Project 2017-161.01

City of Orland On-Call Planning 2018/2019

On-Call Planning and Environmental Support

Senior Planner Rate @ \$115

Professional Services from June 1, 2019 to June 30, 2019

Phase 001 Professional Personnel

		Hours	Rate	Amount
enior Planner				
Summerville, Samuel	6/3/2019	1.50	110.00	165.00
Flow chart permit proc	ess; update FAQ for ve	nd, peddle, haw	/k.	
Summerville, Samuel	6/6/2019	.50	110.00	55.00
City Council memo reg	arding options for SB2	grant funds.		
Summerville, Samuel	6/7/2019	1.00	110.00	110.00
City Council memo reg	arding options for SB2	grant funds.		
Summerville, Samuel	6/11/2019	1.50	110.00	165.00
Draft City Council men recommended projects	no re: SB2 Grant applica	ation backgroun	d and	
Summerville, Samuel	6/14/2019	.50	110.00	55.00
Sidewalk vending FAQ	sheet.			
r. Environmental Planner/Proj.	Manager			
Friend, Scott	6/3/2019	2.00	115.00	230.00
SB2 research and data	gathering			
Friend, Scott	6/5/2019	7.00	115.00	805.00
On-call, on-site planning	g staff hours			
Friend, Scott	6/6/2019	2.00	115.00	230.00 Find 35
Fee Study follow-up wi	th Ken S.			tuna 33
Friend, Scott	6/12/2019	5.50	115.00	632.50
Contract staffing hours				
Friend, Scott	6/13/2019	1.50	115.00	172.50
June PC meeting phon Returning public inquiry		research for m	eeting;	
Friend, Scott	6/14/2019	2.50	115.00	287.50
Fee Study review and i	nputs			
Friend, Scott	6/17/2019	2.00	115.00	230.00
Call with PC Chairwom meeting; maps for Wed Ken re: fee study inputs	. meeting with Jambore			
Friend, Scott	6/18/2019	.50	115.00	57.50
Review of conceptual fr MJMHMP	eeway ID signage for F	arsai, call with A	Andy P re:	
Friend, Scott	6/19/2019	7.00	115.00	805.00
Contract staffing hours	and PC prep.			
Friend, Scott	6/20/2019	2.50	115.00	287.50
June PC meeting (4 iter	ns)			

Project	2017-161.01	City of Orland On-Ca	all Planning18/	19	Invoice	87665
Fr	iend, Scott	6/21/2019	1.50	115.00	172.50	
	Legal ad for Angie for Brien Hamilton re: C	or MJMHMP; follow-up on Quezada	PC meeting; ca	all(s) with		
	Totals		39.00		4,460.00	
	Total Labo	or				4,460.00
Unit Billing	g					
Mileage rat	te @ .58					
6/30/20	19 Monthly M	ileage			110.20	
	Total Unit	s			110.20	110.20
				Total thi	s Phase	\$4,570.20
				Total this	Invoice	\$4,570.20

Authorized By:

Scott Friend Date: 7.29,19

To be completed by requesting department:		
Date Submitted: 7/22/19		
Vendor# ECO01		
Make warrant payable to: ECORP Address: City and State:		
Invoice # or Statement Date: 87494	4	
Description of Item(s) purchased: S	Sunny Orland Tru	ck Wash and annexation project EIR
00 2245 00 5060 210 27 5400 210 73 6274 210 00 2239	\$ 4,793.17 \$ \$ \$ \$	Simplot Professional Services Sewer Recreation Grant Orland Truck Wash
Amount of Request:	\$ 4,793.17	\checkmark
Authorizing Signature:	7RC	<u></u>
To be completed by Finance: Date received: Date paid: Warrant Number:		

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

July 11, 2019

Project No: Invoice No: 2019-045 87494

City of Orland 815 Fourth Street

Task

Orland, CA 95963

Phase	003	Technical Studies				
Task	3.3	Biological Resources				
Professional Pers	onnel					
			Hours	Rate	Amount	
Senior Biologis	t					
Stitt, Eric		6/20/2019	8.00	155.00	1,240.00	
Site vi	sit for BRA					
Biologist						
Hoover, St	acia	6/28/2019	2.25	125.00	281.25	
Drafte	d Biological Re	sources Assessment repo	ort.			
Hoover, St		6/29/2019	1.75	125.00	218.75	
	d Biological Re	sources Assessment repo	ort.			
Staff Biologist						
	ry, Kristina	6/18/2019	.50	140.00	70.00	
	t Coordination	4.0150433		770.00		
Walker-Bei	The second second second second	6/20/2019	.50	140.00	70.00	
	Survey Debrief					
Senior Biologis	Section 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1			100.00	00.00	
Ports, Kath		6/28/2019	.50	160.00	80.00	
	plate, coord. d	ata				
GIS Manager/N		0/40/0040	4.05	105.00	200.25	
Swager, Je		6/19/2019	1.25	165.00	206,25	
Run 10	mile CNDDB. Totals	Create Bio Collector map	14.75		2,166.25	
	Total Labor		14.75		2,100.23	2,166.25
						2,100.25
Reimbursable Exp	enses					
Reimbursable E	xpenses					
6/30/2019	Eric Stitt	6/20	Mlleage		144.42	
	Total Reim	bursables			144.42	144.42
Unit Billing						
GPS: iPad Kit Daily						
6/20/2019	lpad kit for s Truck Plaza	site visit at Orland			50.00	
	Total Units				50.00	50.00
				Total this	s Task	\$2,360.67

Noise

3.5

Project	2019-045	Orland Truck Wash	and Annexatio	n Area	87494	
Professional Personnel						
			Hours	Rate	Amount	
Assista	ant Environmental P	lanner				
Worden, RoseMary		6/18/2019	8.00	90.00	720.00	
	Noise study					
We	orden, RoseMary	6/19/2019	2.00	90.00	180.00	
	Noise study					
	Totals		10.00		900.00	
	Total La	abor				900.00
				Total ti	nis Task	\$900.00
				Total ti	no rusk	ψ300.00
				Total thi	s Phase	\$3,260.67
_ Phase	004	Initial Study				
Profession	al Personnel					
			Hours	Rate	Amount	
Sr. Env	rironmental Planner/	/Proj. Manager				
	end, Scott	6/12/2019	.50	185.00	92.50	
	CANCELLA SECTION AND ANALYSIS OF THE PROPERTY	ect Objectives and EIR cons	ideration of suc	h		
Frie	end, Scott	6/14/2019	.50	185.00	92.50	
		sation with Ken Anderson re:	traffic study as	sumptions		
	vs. area to be ann					
	Totals		1.00		185.00	
	Total La	bor				185.00
				Total this	S Phase	\$185.00
 Phase	005	Draft EIR				
	al Personnel					
10103310111	ii i croomioi		Hours	Rate	Amount	
Cr Envi	ronmental Planner		nouis	Nate	Amount	
	rtin, Michael	6/7/2019	3.50	145.00	507.50	
IVICI	review of revisions		0.00	110.00	007.00	
Mai	tin, Michael	6/17/2019	3.00	145.00	435.00	
Wildi	Writing alternatives		0.00	1,10.00		1
Assistar	nt Environmental Pla					
	ter, Claire	6/5/2019	1.00	90.00	90.00	
	Made edits	113,23				
Les	ter, Claire	6/6/2019	3.50	90.00	315.00	
		nd augmenting for the time be				
	Totals		11.00		1,347.50	
	Total Lab	bor			(*** 00(***)*)	1,347.50
				T-6-141	Dhasa	
				Total this Phase		\$1,347.50
				Total tills		

Authorized By: Michael Martin Date: 7.11.19

VendorVendor NameDate 08/29/19Ck # 050755EC001ECORP CONSULTING, INC

CITY OF ORLAND ORLAND, CA 95963

nvoice ID	Inv Date	Invoice Description	Gross	Discount	Total
7855&7894-	Aug 28 2019	SUNNY ORLAND TRUCK WASH & ANNEXATION PROJE	25,812.50		25,812.5
	£.				
			*		
		Totals	25,812.50	.00	25,812.50

CITY OF ORLAND

815 FOURTH ST. ORLAND, CA 95963 UMPQUA BANK (1-866-486-7782) 96-505/1232 50090

No. 050755

PAY *******25,812*DOLLARS*AND*50*CENTS**

CHECK DATE 08/29/19 PAY EXACTLY ****25,812.50*

TO THE ORDER OF

ECORP CONSULTING, INC 2525 WARREN DRIVE ROCKLIN CA 95677 TWO SIGNATURES REQUIRED FOR AMOUNTS OVER \$1000

Bruce J. Frandy M. Dupy Survey M.

To be completed by requesting department:		
Date Submitted: 8/27/19		
Vendor # ECO01		
Make warrant payable to: ECORF Address: City and State:		
Invoice # or Statement Date: 878	55 & 87894	
Description of Item(s) purchased:	Sunny Orland Tru	ıck Wash and annexation project EIR
00 2245 00 5060 210	\$ 5,357.50	
27 <u>5400</u> <u>210</u> 73 <u>6274</u> <u>210</u> 00 <u>2239</u>	\$ 20,455.00	Sewer Recreation Grant Orland Truck Wash
	\$ \$ \$	Chang Truck Wach
	\$	9
Amount of Request:	\$ 25,812.50	J
Authorizing Signature:	PRC	
To be completed by Finance: Date received: Date paid: Warrant Number:		

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

August 19, 2019

Project No:

2017-161.02

Invoice No:

87855

City of Orland 815 Fourth Street Orland, CA 95963

PRC

Project

2017-161.02

City of Orland - On-Call Planning 2019/2020

Senior Planner \$110

Senior Planner/Project Manager \$120

Professional Services from July 1, 2019 to July 31, 2019

ase	D01	On-Call Planning Supp	oort		
fessional Perso	nnel				
			Hours	Rate	Amoun
Assistant Enviro	onmental Pl	anner			
Lester, Clai	re	7/9/2019	1.00	85.00	85.00
Staff re	ports for the	e ag buffer zoning amendme	nts and the M.	JHMP.	
Lester, Clai	re	7/10/2019	.50	85.00	42.50
Gather	ed PDF app	pendices for the two staff rep	orts		
Lester, Clai	re	7/16/2019	1.00	85.00	85.00
Update	d the ag bu	ffer staff report.			
Lester, Clai	re	7/18/2019	.50	85.00	42.50
Edits to	ag buffer s	taff report.			
Lester, Clai	re	7/23/2019	1.00	85.00	85.00
		tion. Drafted staff report for S	SB 2 grant.		
Lester, Clai	re	7/24/2019	.50	85.00	42.50
Comple	ted staff re	port for the Orland SB 2 Gra	nt application.		
Lester, Clai	е	7/25/2019	2.50	85.00	212.50
FEMA I	eview. Call	the Safety Element of the Ced the Clerk for information r			
Sr. Environment			4.00	120.00	100.00
Friend, Scot		7/8/2019	1.00	120.00	120.00
		x2); County Planning (x1); a 7/10/2019	7.00	120.00	940.00
Friend, Scot				120.00	840.00
		ours (fee study meetings and 7/15/2019	1.50	120.00	100.00
Friend, Scot			1.50	120.00	180.00
		HMP re-adoption	1.00	100.00	120.00
Friend, Scot		7/16/2019		120.00	120.00
	•	IJHMP Resolution delivery a	na post meetin 7.00	120.00	940.00
Friend, Scot		7/17/2019	7.00	120.00	840.00
	A CONTRACTOR OF THE PERSON OF	rvice/contract staffing hours	50	120.00	60.00
Friend, Scot		7/18/2019	.50	120.00	60.00
		: new housing site options	4.00	100.00	400.00
Friend, Scot		7/19/2019	1.00	120.00	120.00
multi-far		n follow-up with Rebecca; Ca g; emails with Leti re: Brian H t map			
Friend, Scott		7/22/2019	2.00	120.00	240.00
Colgan	e: fee study	staff report timing clarification; calls x2 to Andy P at Glenronine items	on; Call with Ni n County re: Kr	BS/J. nife River	

Project	2017-161.02	City of Orland 0	On-Call Planning 19/	20	Invoice	87855
Fı	riend, Scott	7/23/2019	.50	120.00	60.00	
	Calls from B. Hamilton Permit for ADA ramp	on (M Quezada lot sp os)	lit) and Caltrans (En	croachment		
Fr	riend, Scott	7/24/2019	6.50	120.00	780.00	
	Contract staffing hou	irs				
Fr	riend, Scott	7/25/2019	2.50	120.00	300.00	
	Meeting re: Hotel op Ag Buffer Code Ame		ete; legal advert for	Angie for		
Fr	iend, Scott	7/29/2019	1.50	120.00	180.00	
	Review of draft Impa	ct Fee Analysis docu	ment revisions			
Fr	iend, Scott	7/31/2019	7.50	120.00	900.00	
	Regular Orland Cont report (TSM2017-01		d August PC Meetin	g staff		
	Totals		46.50		5,335.00	
	Total Labo	r				5,335.00
Reimbursa	able Expenses					
Reimb	ursable Expenses					
6/3	0/2019 Scott M Frie	end	6/19 Mileage		22.50	
	Total Reim	bursables			22.50	22.50
				Total this	s Phase	\$5,357.50
				Total this	Invoice	\$5,357.50

Date: 8/19/19

Authorized By:

Scott Friend

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

August 21, 2019

Total this Task

\$2,310.00

Project No:

2019-045

Invoice No:

87894

City of Orland 815 Fourth Street Orland, CA 95963

PRO

Project

2019-045

Orland Truck Wash and Annexation Area Project EIR

Professional Services from July 1, 2019 to July 31, 2019

Phase	003	Technical Studies				
Task	3.1	Air Quality/GHG/Energy				
Professiona	l Personnel					
			Hours	Rate	Amount	
Assistan	t Environmental Pla	nner				
Wor	den, Rosemary	7/29/2019	8.00	90.00	720.00	
	Prepared air quality	report.				
Wor	den, Rosemary	7/30/2019	8.00	90.00	720.00	
	Prepared Air Qualit	y report.				
Word	den, Rosemary	7/31/2019	8.00	90.00	720.00	
	Prepared air quality	and GHG report.				
Air Quali	ty/GHG/Noise Analy	/st				
Myei	rs, Seth	7/3/2019	1.00	150.00	150.00	
	Developed emission	ns modeling methodology				
	Totals		25.00		2,310.00	
	Total Lab	or				2,310.00

Task	3.3	Biological Resources				
Professional Pe	ersonnel					
			Hours	Rate	Amount	
Project Man	ager					
Balfour,	Peter	7/9/2019	.50	230.00	115.00	
ass	sessment revie	w				
Senior Biolo	gist					
Kwan, k	Keith	7/8/2019	2.00	150.00	300.00	
bio	assessment					
Kwan, k	Ceith	7/11/2019	1.00	150.00	150.00	
bio	assessment					
Stitt, Eri	С	7/5/2019	.50	155.00	77.50	
site	visit / photos /	notes				
Biologist						
Hoover,	Stacia	7/1/2019	2.25	125.00	281.25	
Dev	eloped figures	and photo plate for BRA. Drafte	ed BRA text.			
Hoover,	Stacia	7/2/2019	3.75	125.00	468.75	
Dra	fted BRA text.	Reviewed special status specie	s occurrence	es.		
Hoover,	Stacia	7/5/2019	4.25	125.00	531.25	
Dra	fted BRA docu	ment.				
Hoover,	Stacia	7/6/2019	2.00	125.00	250.00	
Disc	cussed site with	h field biologist. Drafted BRA do	cument.			

Project	2019-045	Orland Truck Wash	and Annexation	on Area	Invoice	87894
	Hoover, Stacia	7/8/2019	3.25	125.00	406.25	
	Collected information f	or biological resources	assessment.	Orafted report.		
	Hoover, Stacia	7/9/2019	4.00	125.00	500.00	
	Drafted biological reso	urces report.				
	Hoover, Stacia	7/16/2019	1.00	125.00	125.00	
	Revised biological reso	ources assessment due	e to species sta	itus changes.		
Asso	ociate Biologist					
	Peters, Casey	7/11/2019	.50	110.00	55.00	
	Made potential present			11.12.43	2.517(2)	
Seni	or Biologist/Project Manage	3	idire oposioo			
	Ports, Kathleen	7/9/2019	1.75	160.00	280.00	
	Review/edit BRA	175/2015	1.70	100.00	200.00	
ſ		7/11/2019	.75	160.00	120.00	
,	Ports, Kathleen	7/11/2019	./5	160.00	120.00	
	Review, edit BRA	Lincolne	742	142.22	40000	
1	Ports, Kathleen	7/12/2019	.25	160.00	40.00	
	edit BRA					
Tech	nical Editor/Production					
(Green, Karla	7/11/2019	2.00	110.00	220.00	
	prepare a draft BRA					
(Green, Karla	7/12/2019	.50	110.00	55.00	
	prepare a draft BRA					
(Green, Karla	7/16/2019	1.00	110.00	110.00	
	update species table po		1.00	110.00	1,0.00	
GIS	Specialist I	"				
		7/9/2019	175	105.00	102.75	
	Furnquist, Kyleigh		1.75	105.00	183.75	
	Soils and aquatic resou		222			
2	Turnquist, Kyleigh	7/10/2019	3.50	105.00	367.50	
	soils map edits					
	Totals		36.50		4,636.25	
	Total Labor					4,636.2
				Total thi	is Task	\$4,636.2
						* "
	3.5	Noise				
	onal Personnel	Noise				
olessio	onal Personnel		76.5		40.000.00	
			Hours	Rate	Amount	
Assist	tant Environmental Planner					
V	Vorden, Rosemary	7/22/2019	8.00	90.00	720.00	
	Noise analysis.					
V	Vorden, Rosemary	7/23/2019	8.00	90.00	720.00	
	Noise analysis.					
۱۸	Vorden, Rosemary	7/24/2019	8.00	90.00	720.00	
	Noise analysis.	772 1120 10	0.00	55.55	, 20.00	
VA	Vorden, Rosemary	7/25/2019	8.00	90.00	720.00	
V	MIST TO NOT 이 10 전 10	112312019	0.00	90.00	720.00	
	Noise analysis.	7/00/0040	0.00	00.00	700.00	
V\	orden, Rosemary	7/26/2019	8.00	90.00	720.00	
	Noise analysis.					
	uality/GHG/Noise Analyst					
Air Qu		7/23/2019	1.00	150.00	150.00	
Air Qu	lyers, Seth					
Air Qu	lyers, Seth Developed noise analysi	s methodology				
Air Qu M	Developed noise analysi	s methodology 7/25/2019	1.00	150.00	150.00	
Air Qu M	Developed noise analysi yers, Seth	7/25/2019	1.00	150.00	150.00	
Air Qu M	Developed noise analysi yers, Seth Noise Propagation Mode	7/25/2019 ling effort				
Air Qu M	Developed noise analysi yers, Seth Noise Propagation Mode yers, Seth	7/25/2019 Hing effort 7/31/2019	1.00 5.00	150.00 150.00	150.00 750.00	
Air Qu M	Developed noise analysi yers, Seth Noise Propagation Mode	7/25/2019 Hing effort 7/31/2019				

Project	2019-045	Orland Truck Wash	and Annexatio	n Area	Invoice	87894
				Total ti	nis Task	\$4,650.0
				Total thi	s Phase	\$11,596.2
 Phase	005	Draft EIR				
	nal Personnel	Drait Ent				
1016331011	iai i ersonnei		10000000	-	42.55	
C- F-	decemental Discours		Hours	Rate	Amount	
	vironmental Planner	7/45/2040	1.00	145.00	145.00	
IVIE	artin, Michael	7/15/2019	1.00	145.00	145.00	
Ma		es discussion and EIR prog		145.00	145.00	
IVIE	artin, Michael	7/16/2019	1.00	145.00	145.00	
Ma	review of revised tr		E 25	145.00	764.05	
IVI	artin, Michael	7/30/2019	5.25	145.00	761.25	
345	Review of Admin D		0.00	445.00	4 400 00	
IVIa	artin, Michael	7/31/2019	8.00	145.00	1,160.00	
Amelet	Review of Admin D					
	nt Environmental Pla		0.00	00.00	540.00	
Les	ster, Claire	7/2/2019	6.00	90.00	540.00	
	Air Quality, Greenh	ting setting and regulatory s ouse Gas, and Energy sect	tions	ions of the		
Les	ster, Claire	7/3/2019	8.00	90.00	720.00	
		e existing setting and regula enhouse Gas, Energy, and				
Les	ster, Claire	7/11/2019	6.00	90.00	540.00	
		Resources section of EIR.			7.77.67	
Las	ster, Claire	7/12/2019	8.00	90.00	720.00	
Los	Prepared alternative		0.00	50.00	720.00	
1 00	ster, Claire	7/15/2019	6.00	90.00	540.00	
200		s analysis, finished biology			0,10.00	
Les	ter, Claire	7/16/2019	2.50	90.00	225.00	
203	Finished noise regu	latory setting. Made update	s to the BIO se		220.00	
645		the Biological Resource As		00.00	200.00	
Les	ter, Claire	7/19/2019	4.00	90.00	360.00	
		and the alternatives analysion of the Orland Sunny Truc		egan the		
Les	ter, Claire	7/22/2019	7.50	90.00	675.00	
	Transportation secti	on of Draft EIR.				
Les	ter, Claire	7/23/2019	5.00	90.00	450.00	
		tation section of EIR. Incorp alternatives analysis.	oorated transpo	rtation		
Lest	ter, Claire	7/24/2019	1.50	90.00	135.00	
7,1	Completed areas of	controversy, completed sur aside from sections in prog	mmary of impac			
Lest	ter, Claire	7/25/2019	3.00	90.00	270.00	
	Summary of impacts	s and MMs, made edits to B ed noise impact information	iology and Tran	sportation	270.00	
	er, Claire	7/29/2019	6.50	90.00	585.00	
	Regulatory setting e	dits for all sections, organizergy existing setting, and for	ation of figures,			
	er, Claire	7/30/2019	1.50	90.00	135.00	
	Formatted reference	sections. Updated executiv			100.00	
	section. er, Claire	7/31/2019	2.50	90.00	225.00	
Lest	ci, Cialie	113112013	2.00	55.00	220,00	

Project	2019-045	Orland Truck Wash ar	nd Annexatio	n Area	Invoice	87894
		Agriculture section as per com				
	Totals		83.25		8,331.25	
	Total Labor					8,331.25
				Total th	is Phase	\$8,331.25
 Phase	007	Project Management				
Professio	nal Personnel					
			Hours	Rate	Amount	
Sr. Er	vironmental Planner					
M	artin, Michael	7/10/2019	2.00	145.00	290.00	
	project manageme	ent - staff assignments				
M	artin, Michael	7/12/2019	1.00	145.00	145.00	
	Project discussion					
Sr. En	vironmental Planner/	Proj. Manager				
Fr	iend, Scott	7/25/2019	.50	185.00	92.50	
	Review of traffic st	tudy data for Truck Wash and 0	CEQA implica	ations		
	Totals		3.50		527.50	
	Total La	bor				527.50
				Total thi	s Phase	\$527.50
				Total this	Invoice	\$20,455.00

Authorized By: Michael Martin

Date: 8.21.19

Page 4

VendorVendor NameDate 10/03/19Ck # 050911EC001ECORP CONSULTING, INC

ORLAND, CA 95963

Invoice ID	Inv Date	Invoice Description	Gross	Discount	Total
8133&8068-	Sep 25 2019	SUNNY ORLAND TRUCK WASH, PROFESSIONAL SVCS	24,589.47		24,589.4
			,		
		Totals	24,589.47	.00	24,589.47

CITY OF ORLAND

815 FOURTH ST. ORLAND, CA 95963 UMPQUA BANK (1-866-486-7782) 96-505/1232 50090

No. 050911

PAY *******24,589*DOLLARS*AND*47*CENTS**

CHECK DATE 10/03/19 PAY EXACTLY *****24,589.47*

TO THE ORDER OF

ECORP CONSULTING, INC 2525 WARREN DRIVE ROCKLIN CA 95677 TWO SIGNATURES REQUIRED FOR AMOUNTS OVER \$1000

Dupy Dryner M. Brundyn

#050911# #123205054#

0007051131

To be completed by requesting department:		
Date Submitted: 9/19/19		
Vendor # ECO01		
Make warrant payable to: ECORP Address: City and State:	/	
Invoice # or Statement Date: 8813	33 & 88068	
Description of Item(s) purchased:	Sunny Orland Tru	ick Wash and Professional Services
00 2245 00 5060 210 27 5400 210 73 6274 210 00 2239	\$ \$ \$	Simplot Professional Services Sewer Recreation Grant Orland Truck Wash
Amount of Request:	\$ 24,589.47	<i>></i>
Authorizing Signature:	Ç	
To be completed by Finance: Date received: Date paid: Warrant Number:		

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

September 19, 2019

Project No:

2017-161.02

Invoice No:

88133

City of Orland 815 Fourth Street Orland, CA 95963

Project

2017-161.02

City of Orland - On-Call Planning 2019/2020

Senior Planner \$110 Senior Planner/Project Manager \$120 Assistant Planner \$85

Phase 001	On-Call Planning Supp	port			
rofessional Personnel					
		Hours	Rate	Amount	
Sr. Environmental Planne	er	110010	riaco	7 miount	
Martin, Michael	8/13/2019	1.00	120.00	120.00	
SB 2 analysis	0, 10,2010	1.00	120.00	120.00	
Assistant Environmental	Planner				
Lester, Claire	8/1/2019	2.00	85.00	170.00	
Finalized MJHM	P and ag buffer documents an City of Orland website.			1, 0.00	
Lester, Claire	8/7/2019	1.50	85.00	127.50	
SB 2 grant appli	cation.				
Lester, Claire	8/8/2019	1.00	85.00	85.00	
Performed resea	arch on building permit fees ad- cities. The findings will be use				
Lester, Claire	8/13/2019	1.00	85.00	85.00	
SB 2 Grant appli	cation.				
Lester, Claire SB 2 Grant appli	8/14/2019 cation.	1.00	85.00	85.00	
Lester, Claire	8/19/2019	4.50	85.00	382.50	
Commerce Plaza	a CEQA Initial Study				
Lester, Claire	8/20/2019	4.00	85.00	340.00	
Commerce Plaza	a CEQA Initial Study				
Lester, Claire	8/21/2019	4.00	85.00	340.00	
Commerce Plaza	a CEQA Initial Study				
Lester, Claire	8/22/2019	4.00	85.00	340.00	
Commerce Plaza	CEQA Initial Study				
Lester, Claire	8/23/2019	3.50	85.00	297.50	
Commerce Plaza	CEQA Initial Study				
Lester, Claire	8/26/2019	1.00	85.00	85.00	
Finalization of Co	ommerce Lane Plaza Project IS	S.			*
Lester, Claire	8/27/2019	2.50	85.00	212.50	
	d City Council resolution for SE chnical Memo for Commerce L				
Sr. Environmental Planner	r/Proj. Manager				
E. 1 0 - 4	8/1/2019	2.00	120.00	240.00	
Friend, Scott					
Review of "final" f	fee study 8/2/2019	2.00	120.00	240.00	

Project	2017-161.02	City of Orland On-C	all Planning 19	/20	Invoice	88133
Re	eview of "final" fee	study				
Friend,	, Scott	8/7/2019	7.00	120.00	840.00	
Or	n-call staffing office	hours - review of Fee So	chedule Draft do	ocuments		
Friend,	, Scott	8/8/2019	.50	120.00	60.00	
	all with Becky John owntown; 1 - C-2/R	s re: zoning use options t	for 2 location (1	-		
Friend,	Scott	8/9/2019	1.00	120.00	120.00	
	3 2 application revi	ew and edit; call with OUS	SD re: sign plac	ement at CK		
Friend,	Scott	8/14/2019	6.50	120.00	780.00	
Re	egular, weekly, in-o	ffice contract staffing hou	rs			
Friend,	Scott	8/15/2019	6.00	120.00	720.00	
Au	igust PC meeting;	CC staff reports x2; Fee S	Study comments	S		
Friend,	Scott	8/16/2019	1.00	120.00	120.00	
Ad	Idressing resolution	n for Miller				
Friend,	Scott	8/19/2019	1.50	120.00	180.00	
em	nail follow-ups; add	ressing for parcel on SW	C of South and	Railroad		
Friend,	Scott	8/21/2019	7.00	120.00	840.00	
On	-site, on-call office	hours				
Friend,	Scott	8/28/2019	6.50	120.00	780.00	
On	-call, on-site contra	act staffing hours				
Friend,	Scott	8/30/2019	2.00	120.00	240.00	
GP	RPF and SB2 app	olication				
	Totals		74.00		7,830.00	
	Total Labor	5				7,830.00
Jnit Billing						
Mileage rate @ .	.58					
8/31/2019	Monthly Mile	eage			788.22	
	Total Units				788.22	788.22
				Total this	s Phase	\$8,618.22
				Total this	Invoice	\$8,618.22

Date:

Authorized By:

Scott Friend

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

September 11, 2019

Project No:

2019-045

Invoice No:

88068

City of Orland 815 Fourth Street Orland, CA 95963

Phase	003	Technical Studies				
Task	3.1	Air Quality/GHG/Energy				
Professional I	Personnel					
			Hours	Rate	Amount	
Assistant	Environmental Pl	anner				
Worde	en, Rosemary	8/1/2019	7.00	90.00	630.00	
	repared GHG rep	port.				
	en, Rosemary	8/2/2019	8.00	90.00	720.00	
	repared GHG rep					
	/GHG/Noise Ana					
	, Seth	8/6/2019	3.00	155.00	465.00	
		ew to Air Quality section	3-60	422.00	W 2 LD 22	
Myers		8/7/2019	8.00	155.00	1,240.00	
С	onsumption secti					
Myers		8/8/2019	1.50	155.00	232.50	
Pi		ew to Energy Consumption se				
	Totals		27.50		3,287.50	5/2/2007
	Total Lal	por				3,287.50
				Total th	is Task	\$3,287.50
- Гаѕк	3.2	Energy Consumption				
Professional P	ersonnel					
			Hours	Rate	Amount	
Assistant E	nvironmental Pla	nner				
Worde	n, Rosemary	8/5/2019	8.00	90.00	720.00	
	epared energy ar	nalysis.				
	n, Rosemary	8/6/2019	8.00	90.00	720.00	
	epared energy ar					
	n, Rosemary	8/7/2019	8.00	90.00	720.00	
Pr	epared energy ar	nalysis.			47.44	
	Totals		24.00		2,160.00	2
	Total Lab	or				2,160.00
				Total this	- ·	\$2,160.00

Project	2019-045	Orland Truck Wash	and Annexation	on Area	Invoice	88068
Profession	nal Personnel					
			Hours	Rate	Amount	
Biologi	ist					
Ho	oover, Stacia	8/5/2019	.50	125.00	62.50	
	Finalized Biological Re	esources Assessment re	eport.			
Associ	ate Biologist					
Ric	ch, Carly	8/1/2019	.50	105.00	52.50	
	CEQA questions					
Techni	cal Editor/Production					
Gr	een, Karla	8/5/2019	1.00	110.00	110.00	
	compile final pdf of bra	1				
	Totals		2.00		225.00	
	Total Labor					225.00
				Total t	his Task	\$225.00
				Totalt	ilio Tuok	Ψ225.00
				Total thi	s Phase	\$5,672.50
 Phase	005	Draft EIR				
	al Personnel	= - 0 1 7 4 1				
			Hours	Rate	Amount	
Biologis	et.		riours	Nate	Amount	
	over, Stacia	8/4/2019	.25	125.00	31.25	
1100	Provided biological info		.20	123.00	31.25	
Cr Env	ironmental Planner	imation for draft EIK.				
		8/1/2019	1.00	145.00	145.00	
Ma	rtin, Michael	6/1/2019	1.00	145.00	145.00	
Ma	Adm Draft EIR review	0/0/0010	2.00	145.00	435.00	
ivia	rtin, Michael	8/2/2019	3.00	145.00	435.00	
Ma	Adm Draft EIR review rtin, Michael	8/5/2019	. 7.00	145.00	1,015.00	
Iviai			. 7.00	145.00	1,015.00	
Mar	review and revision of a		4.00	145.00	E90.00	
iviai	rtin, Michael	8/6/2019	4.00	145.00	580.00	
Max	review of admin DEIR		6.00	145.00	970.00	
iviar	rtin, Michael	8/7/2019	6.00	145.00	870.00	
1.4	review and revise of Ad		4.00	445.00	445.00	
iviar	tin, Michael	8/8/2019	1.00	145.00	145.00	
Man	writing table of contents		1.00	145.00	145.00	
Mar	tin, Michael	8/9/2019	1.00	145.00	145.00	
Man	review of admin DEIR	0/44/2040	6.00	145.00	970.00	
Mar	tin, Michael	8/14/2019	6.00	145.00	870.00	
	finalizing admin draft El		4.00	145.00	145.00	
iviar	tin, Michael	8/15/2019	1.00	145.00	145.00	
Man	final review of Adm Drat		1.00	145.00	145.00	
Mar	tin, Michael	8/16/2019	1.00	145.00	145.00	
T- 10-1-	Adm Draft Review					
	al Editor/Production	0/0/0040	0.75	100.00	075.00	
Hes	se, Laura	8/9/2019	2.75	100.00	275.00	
	Tech edit, format DEIR		0.00	100.00	200.00	
Hes	se, Laura	8/12/2019	6.00	100.00	600.00	
	Edit, format chapters for					
Hes	se, Laura	8/13/2019	5.50	100.00	550.00	
	Edit, format chapters for		20.00	722.00	100 and 100	
	se, Laura	8/14/2019	6.75	100.00	675.00	
	Edit, format chapters for					
	se, Laura	8/15/2019	5.75	100.00	575.00	
	Edit, format chapters for					

Project	2019-045	Orland Truck Wash	and Annexati	on Area	Invoice	88068
1	Hesse, Laura	8/16/2019	.75	100.00	75.00	
	Final ADEIR PDF					
Assis	stant Environmental Plan	nner				
1	Lester, Claire	8/1/2019	3.00	90.00	270.00	
		cutive Summary, final proo				
		ents on Transportation sect res and final proofreading o		on of		
L	Lester, Claire	8/2/2019	1.50	90.00	135.00	
	Assessment Docum on comments follow	ction based on changes to nent. Continued edits to Tra ring review. Augmented the n of the GHG, Air Quality, a	ansportation se Executive Su	ection based Immary		
L	ester, Claire	8/5/2019	4.00	90.00	360.00	
	Finalized the alterna	atives analysis and the exe	cutive summa	ry.		
L	ester, Claire	8/6/2019	1.50	90.00	135.00	
	Made edits to the No Read portions of the	oise section following revie e 1993 Glenn County Gene levant to energy use.				
L	ester, Claire	8/7/2019	4.50	90.00	405.00	
		tives Analysis based on co ation figure numbering.	mments by Pi	roject		
L	ester, Claire	8/8/2019	2.00	90.00	180.00	
		utive Summary. Technical	editing.			
L	ester, Claire	8/30/2019	3.00	90.00	270.00	
	이 어린 생각 그리고 있는 아이지, 그래요? 또	summary form for the DEIF			200 2007	
	based on previous co					
	Totals		78.25		9,031.25	
	Total Labo	or			110 110 110 110	9,031.25
	Total Labo	or				9,031.25
	Total Labo	or		Total this		9,031.25 \$9,031.25
	Total Labo 007 nal Personnel	Project Management			s Phase ——————	
ofessio	007 nal Personnel			Total this		
ofession Sr. En	007 nal Personnel nvironmental Planner	Project Management	————— Hours	Rate	S Phase ———————————————————————————————————	
ofession Sr. En	007 nal Personnel nvironmental Planner lartin, Michael	Project Management 8/9/2019			s Phase ——————	
ofession Sr. En M	007 nal Personnel nvironmental Planner lartin, Michael Publications and tech	Project Management 8/9/2019 In review coordination	Hours 1.00	Rate 145.00	Amount	
ofession Sr. En M	007 nal Personnel nvironmental Planner lartin, Michael Publications and tech	Project Management 8/9/2019 h review coordination 8/12/2019	Hours 1.00 2.00	Rate	S Phase ———————————————————————————————————	
ofession Sr. En M	007 nal Personnel nvironmental Planner lartin, Michael Publications and tech lartin, Michael defining revised sche	Project Management 8/9/2019 h review coordination 8/12/2019 edule and email correspond	Hours 1.00 2.00	Rate 145.00	Amount	
Sr. En M M Sr. En	007 nal Personnel nvironmental Planner fartin, Michael Publications and tech lartin, Michael defining revised sche	Project Management 8/9/2019 n review coordination 8/12/2019 edule and email correspond	Hours 1.00 2.00 dence	Rate 145.00 145.00	Amount 145.00 290.00	
Sr. En M Sr. En	007 mal Personnel nvironmental Planner lartin, Michael Publications and tech lartin, Michael defining revised sche avironmental Planner/Pro-	Project Management 8/9/2019 n review coordination 8/12/2019 edule and email correspond oj. Manager 8/2/2019	Hours 1.00 2.00	Rate 145.00	Amount	
Sr. En M Sr. En Fr	007 nal Personnel nvironmental Planner lartin, Michael Publications and tech lartin, Michael defining revised sche nvironmental Planner/Pro riend, Scott Review of incorporate	8/9/2019 In review coordination 8/12/2019 Indule and email correspond oj. Manager 8/2/2019 ed Traffic Study	Hours 1.00 2.00 dence	Rate 145.00 145.00	Amount 145.00 290.00	
Sr. En M Sr. En	007 nal Personnel nvironmental Planner lartin, Michael Publications and tech lartin, Michael defining revised sche nvironmental Planner/Pro- riend, Scott Review of incorporate	8/9/2019 In review coordination 8/12/2019 Induction and email correspond oj. Manager 8/2/2019 Induction and email correspond oj. Manager 8/2/2019 Induction and email correspond 8/2/2019	Hours 1.00 2.00 dence	Rate 145.00 145.00	Amount 145.00 290.00	
Sr. En M Sr. En Fr	007 mal Personnel nvironmental Planner flartin, Michael Publications and tech lartin, Michael defining revised sche avironmental Planner/Pro- riend, Scott Review of incorporate riend, Scott Email with Jay re: pro-	8/9/2019 In review coordination 8/12/2019 Industrial edule and email correspond oj. Manager 8/2/2019 Industrial edule and email	Hours 1.00 2.00 dence .50	Rate 145.00 145.00 185.00	Amount 145.00 290.00 92.50	
Sr. En M Sr. En Fr	007 mal Personnel nvironmental Planner lartin, Michael Publications and tech lartin, Michael defining revised sche evironmental Planner/Pro- riend, Scott Review of incorporate riend, Scott Email with Jay re: pro- riend, Scott	8/9/2019 In review coordination 8/12/2019 In dule and email correspond Oj. Manager 8/2/2019 In the details of t	Hours 1.00 2.00 dence	Rate 145.00 145.00	Amount 145.00 290.00	
Sr. En M Sr. En Fr	007 mal Personnel nvironmental Planner flartin, Michael Publications and tech lartin, Michael defining revised sche avironmental Planner/Pro- riend, Scott Review of incorporate riend, Scott Email with Jay re: pro-	8/9/2019 In review coordination 8/12/2019 In dule and email correspond Oj. Manager 8/2/2019 In the details of t	Hours 1.00 2.00 dence .50	Rate 145.00 145.00 185.00	Amount 145.00 290.00 92.50 92.50 370.00	
Sr. En M Sr. En Fr	007 mal Personnel nvironmental Planner lartin, Michael Publications and tech lartin, Michael defining revised sche evironmental Planner/Pro- riend, Scott Review of incorporate riend, Scott Email with Jay re: pro- riend, Scott	8/9/2019 In review coordination 8/12/2019 In dule and email correspond Oj. Manager 8/2/2019 In the details of t	Hours 1.00 2.00 dence .50	Rate 145.00 145.00 185.00	Amount 145.00 290.00 92.50	
Sr. En M Sr. En Fr Fr	007 mal Personnel nvironmental Planner lartin, Michael Publications and tech lartin, Michael defining revised sche nvironmental Planner/Pro- riend, Scott Review of incorporate riend, Scott Email with Jay re: pro- riend, Scott Review of pre-print dr riend, Scott Call with North Star re	8/9/2019 In review coordination 8/12/2019 Indule and email correspond oj. Manager 8/2/2019 Indule and Email correspond oj. Manager 8/2/2019 Indule Study 8/9/2019 Indule Status 8/12/2019	Hours 1.00 2.00 dence .50 .50 2.00	Rate 145.00 145.00 185.00 185.00 185.00	Amount 145.00 290.00 92.50 92.50 370.00 92.50	
Sr. En M Sr. En Fr Fr	007 nal Personnel nvironmental Planner lartin, Michael Publications and tech lartin, Michael defining revised sche avironmental Planner/Pro- riend, Scott Review of incorporate riend, Scott Email with Jay re: pro- riend, Scott Review of pre-print dr riend, Scott Call with North Star re- riend, Scott	8/9/2019 In review coordination 8/12/2019 In dule and email correspond In Manager 8/2/2019 In Traffic Study 8/9/2019 In Status 8/12/2019 In Traffic EIR 8/19/2019 In Status 8/19/2019 In Status 8/19/2019 In Status 8/19/2019 In Status 8/30/2019	Hours 1.00 2.00 dence .50 2.00 .50 1.00	Rate 145.00 145.00 185.00 185.00 185.00 185.00	Amount 145.00 290.00 92.50 92.50 370.00	
Sr. En M Sr. En Fr Fr	oo7 mal Personnel nvironmental Planner fartin, Michael Publications and tech lartin, Michael defining revised sche nvironmental Planner/Pro- riend, Scott Review of incorporate riend, Scott Email with Jay re: pro- riend, Scott Review of pre-print dr riend, Scott Review of pre-print dr riend, Scott Call with North Star re- riend, Scott Call with North Star re- riend, Scott Engagement of City re-	8/9/2019 In review coordination 8/12/2019 In dule and email correspond In Manager 8/2/2019 In Traffic Study 8/9/2019 In Status 8/12/2019 In Traffic EIR 8/19/2019 In Status 8/19/2019 In Status 8/19/2019 In Status 8/19/2019 In Status 8/30/2019	Hours 1.00 2.00 dence .50 2.00 .50 1.00	Rate 145.00 145.00 185.00 185.00 185.00 185.00	Amount 145.00 290.00 92.50 92.50 370.00 92.50	
Sr. En M Sr. En Fr Fr	nvironmental Planner fartin, Michael Publications and tech fartin, Michael defining revised sche evironmental Planner/Pro riend, Scott Review of incorporate riend, Scott Email with Jay re: pro riend, Scott Review of pre-print dr riend, Scott Call with North Star re riend, Scott Engagement of City re team (delivery of ADE	8/9/2019 In review coordination 8/12/2019 In dule and email correspond In a status 8/12/2019 In a status 8/12/2019 In a status 8/12/2019 In a status 8/12/2019 In a status 8/19/2019 In a status 8/19/2019 In a status 8/30/2019	Hours 1.00 2.00 dence .50 .50 2.00 .50 1.00 cations with a	Rate 145.00 145.00 185.00 185.00 185.00 185.00	Amount 145.00 290.00 92.50 92.50 370.00 92.50 185.00	
Sr. En M Sr. En Fr Fr	nal Personnel avironmental Planner lartin, Michael Publications and tech lartin, Michael defining revised sche avironmental Planner/Pro riend, Scott Review of incorporate riend, Scott Email with Jay re: pro riend, Scott Review of pre-print dr riend, Scott Call with North Star re riend, Scott Engagement of City re team (delivery of ADE Totals	8/9/2019 In review coordination 8/12/2019 In dule and email correspond In a status 8/12/2019 In a status 8/12/2019 In a status 8/12/2019 In a status 8/12/2019 In a status 8/19/2019 In a status 8/19/2019 In a status 8/30/2019	Hours 1.00 2.00 dence .50 .50 2.00 .50 1.00 cations with a	Rate 145.00 145.00 185.00 185.00 185.00 185.00 pplicant	Amount 145.00 290.00 92.50 92.50 370.00 92.50 185.00 1,267.50	\$9,031.25
Sr. En M Sr. En Fr Fr	nal Personnel avironmental Planner lartin, Michael Publications and tech lartin, Michael defining revised sche avironmental Planner/Pro riend, Scott Review of incorporate riend, Scott Email with Jay re: pro riend, Scott Review of pre-print dr riend, Scott Call with North Star re riend, Scott Engagement of City re team (delivery of ADE Totals	8/9/2019 In review coordination 8/12/2019 In dule and email correspond In a status 8/12/2019 In a status 8/12/2019 In a status 8/12/2019 In a status 8/12/2019 In a status 8/19/2019 In a status 8/19/2019 In a status 8/30/2019	Hours 1.00 2.00 dence .50 .50 2.00 .50 1.00 cations with a	Rate 145.00 145.00 185.00 185.00 185.00 185.00	Amount 145.00 290.00 92.50 92.50 370.00 92.50 185.00 1,267.50	\$9,031.25

Project	2019-045	Orland Truck Wash and Ann	nexation Area	Invoice	88068
Authorized	By: Michael Martin	ria Cochrans	Date: _	9.11.19	

CITY OF ORLAND ORLAND, CA 95963

VendorVendor NameDate 10/31/19Ck # 051061ECO01ECORP CONSULTING, INC

Invoice ID	Inv Date	Invoice Description	Gross	Discount	Total
8440&8503-	Oct 30 2019	SUNNY TRUCK WASH, PROFESSIONAL SERVE	ICES 13,806.14		13,806.1
		Total	Ls 13,806.14	.00	13,806.14

CITY OF ORLAND

815 FOURTH ST. ORLAND, CA 95963 UMPQUA BANK (1-866-486-7782) 96-505/1232 50090

No 051061

0

PAY********13,806*DOLLARS*AND*14*CENTS**

CHECK DATE PAY EXACTLY

10/31/19 *****13,806.14*

TO THE ORDER OF

ECORP CONSULTING, INC 2525 WARREN DRIVE ROCKLIN CA 95677 TWO SIGNATURES REQUIRED FOR AMOUNTS OVER \$1000

Dupy Gueren M. Bruce J. Koundy M.

#051061# 1:1232050541:

0007051131

1 1

To be completed by requesting department:		
Date Submitted: 10/28/19		
Vendor # ECO01		
Make warrant payable to: ECO Address: City and State:	RP /	
Invoice # or Statement Date: 88	440 & 88503	
Description of Item(s) purchase	d: Sunny Orland Truck Wash	∍pt
00 2245 00 5060 210 27 5400 210 73 6274 210 00 2239	\$ 9,848.58 Professional Services Sewer Recreation Grant \$ 3,957.56 Orland Truck Wash \$ \$ \$	
Amount of Request:	\$ 13,806.14	
Authorizing Signature:	pilc	
To be completed by Finance: Date received: Date paid:		
Warrant Number:		

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

October 21, 2019

Project No:

2019-045

Invoice No:

88440

City of Orland 815 Fourth Street Orland, CA 95963

Green, Karla

Production of Draft EIR

Professional Se	rvices from Se	ptember 1, 2019 to Septer	nber 30, 2019			
Phase	003	Technical Studies				
Task	3.5	Noise				66222
Professional Per	rsonnel					
			Hours	Rate	Amount	
Sr. Environm	ental Planner					
Martin, M	fichael	9/27/2019	.25	145.00	36.25	
nois	e metering					
Assistant Env	ironmental Pla	nner				
Lester, C	laire	9/12/2019	1.00	90.00	90.00	
	fread and edite erous attachme	ed Orland Sunny Truck Was ents.	h staff report a	and		
	Totals		1.25		126.25	
	Total Lab	or				126.25
Unit Billing						
Noise Meter		Ψ.				
9/27/2019		eter usage March 14 & I at completion of			200.00	
	Total Unit	ts			200.00	200.00
				Total th	is Task	\$326.25
				Total this	Phase	\$326.25
Phase	005	Draft EIR				
Professional Pers	sonnel					
			Hours	Rate	Amount	
Sr. Environme	ental Planner		10.7.51.5			
Martin, Mi		9/16/2019	1.00	145.00	145.00	
		ion instructions of DEIR	102.0			
Martin, Mi		9/20/2019	.50	145.00	72.50	
		ments on Admin DEIR				
Martin, Mi	chael	9/23/2019	1.00	145.00	145.00	
final r	eview of DEIR					
Administrative	Assistant					
Hawkins,	Emily	9/26/2019	.75	75.00	56.25	
Help	Publications wit	th the EIR for City of Orland				
Technical Edit	or/Production					
	PACE TO THE REST OF THE PACE TO THE PACE T	0/04/0040	4 00	440.00	440.00	

1.00

110.00

110.00

9/24/2019

	2019	9-045	Orland Truck	Wash and Annexation	on Area	Invoice	88440
	Hesse, Lau	ra	9/23/2019	1.00	100.00	100.00	
	PDF ch	napters for Draft	production				
	Hesse, Lau	ra	9/24/2019	5.00	100.00	500.00	
	Produc	tion (CDs, printi	ng)				
	Hesse, Lau		9/25/2019	1.25	100.00	125.00	
			pare and coordinate	ate SCH submittal			
	Hesse, Lau		9/26/2019	1.25	100.00	125.00	
	the second secon	roduction and sh		1.20	100.00	120.00	
Δοσ		nmental Planne					
733			9/3/2019	1.50	90.00	135.00	
	Lester, Clai					133.00	
	reports		, NOC, and summ	nary form and begai	i the stair		
			9/6/2019	1.00	90.00	90.00	
	Lester, Clair		9/0/2019	1.00	90.00	90.00	
		ation of DEIR.	0/40/0040		00.00	45.00	
	Lester, Clair		9/16/2019	.50	90.00	45.00	
			or public review o		200		
	Lester, Clair		9/27/2019	2.00	90.00	180.00	
		t NOA and copy	of the DEIR to W	illows for the public	review		
	period.				150		
	Rodriquez, I		9/26/2019	1.50	90.00	135.00	
	Deliver	NOC to State C	learinghouse				
		Totals		19.25		1,963.75	
		Total Labor					1,963.7
Jalmahuu	rachie Even						
	rsable Expe						
	ect Expense						
9	9/30/2019	Century Graph	nics	Publications - Cen	tury Invoice #	1,138.06	
				619575-6	A MALLON		
9	9/30/2019	Golden State	-	9/26 Overnight - G	SO 4029116	24.50	
		Total Reimbu	rsables			1,162.56	1,162.56
						1,102.30	1,102.50
					Total this	1000	
					Total this	1000	
					Total this	1000	
3.000		 006	Final EIR/NOD/M	 MRP	Total this	1000	
3.000	(onal Persor	 006	Final EIR/NOD/M	 MRP	Total this	1000	
3.000		 006	Final EIR/NOD/M	—————— MRP Hours	Total this	1000	
Professi	onal Persor	 006 nnel				Phase	
Professi Assis	onal Persor	006 nnel nmental Planner		Hours		Phase — — — — — — — — — — — — — — — — — — —	
Professi Assis	onal Persor stant Enviror Lester, Claire	006 nnel nmental Planner	9/13/2019	Hours		Phase	
Professi Assis	onal Persor stant Enviror Lester, Claire Began N	006 nnel nmental Planner e MMRP for the Or	9/13/2019 land Sunny Truck	Hours .50 Wash EIR.	Rate 90.00	Amount 45.00	
Professi Assis	onal Persor stant Enviror Lester, Claire Began M Lester, Claire	006 nnel nmental Planner e MMRP for the Or	9/13/2019 land Sunny Truck 9/16/2019	Hours .50 Wash EIR. 1.00	Rate 90.00 90.00	Phase — — — — — — — — — — — — — — — — — — —	
Professi Assis	onal Persor stant Enviror Lester, Claire Began M Lester, Claire Complet	006 nnel nmental Planner MMRP for the Or eted MMRP for th	9/13/2019 land Sunny Truck 9/16/2019 e current draft vel	Hours .50 Wash EIR. 1.00 rsion of the EIR doc	Rate 90.00 90.00 ument.	Amount 45.00	
Professi Assis	stant Enviror Lester, Claire Began M Lester, Claire Complet Changes	006 nmel nmental Planner MMRP for the Or eted MMRP for th	9/13/2019 land Sunny Truck 9/16/2019 e current draft ver needed based or	Hours .50 Wash EIR. 1.00	Rate 90.00 90.00 ument.	Amount 45.00	
Professi Assis	stant Enviror Lester, Claire Began M Lester, Claire Complet Changes	006 nnel nmental Planner MMRP for the Or e ded MMRP for th s will be made if ents of the FEIR	9/13/2019 land Sunny Truck 9/16/2019 e current draft ver needed based or	Hours .50 : Wash EIR. 1.00 rsion of the EIR doc	Rate 90.00 90.00 ument.	Amount 45.00 90.00	
Professi Assis	stant Enviror Lester, Claire Began M Lester, Claire Complet Changes	onel mental Planner MMRP for the Or ed MMRP for th s will be made if ents of the FEIR Totals	9/13/2019 land Sunny Truck 9/16/2019 e current draft ver needed based or	Hours .50 Wash EIR. 1.00 rsion of the EIR doc	Rate 90.00 90.00 ument.	Amount 45.00	\$3,126.31 - — — — —
Professi Assis	stant Enviror Lester, Claire Began M Lester, Claire Complet Changes	006 nnel nmental Planner MMRP for the Or e ded MMRP for th s will be made if ents of the FEIR	9/13/2019 land Sunny Truck 9/16/2019 e current draft ver needed based or	Hours .50 : Wash EIR. 1.00 rsion of the EIR doc	Rate 90.00 90.00 ument. DEIR and	Amount 45.00 90.00	\$3,126.31
Professi Assis	stant Enviror Lester, Claire Began M Lester, Claire Complet Changes	onel mental Planner MMRP for the Or ed MMRP for th s will be made if ents of the FEIR Totals	9/13/2019 land Sunny Truck 9/16/2019 e current draft ver needed based or	Hours .50 : Wash EIR. 1.00 rsion of the EIR doc	Rate 90.00 90.00 ument.	Amount 45.00 90.00	\$3,126.31 - — — — —
Professi Assis	stant Enviror Lester, Claire Began M Lester, Claire Complet Changes	onel mental Planner MMRP for the Or ed MMRP for th s will be made if ents of the FEIR Totals	9/13/2019 land Sunny Truck 9/16/2019 e current draft ver needed based or	Hours .50 : Wash EIR. 1.00 rsion of the EIR doc	Rate 90.00 90.00 ument. DEIR and	Amount 45.00 90.00	\$3,126.31
Assis	stant Enviror Lester, Claire Began N Lester, Claire Complet Changes the conte	onnel mmental Planner MMRP for the Or eted MMRP for th s will be made if ents of the FEIR Totals Total Labor	9/13/2019 land Sunny Truck 9/16/2019 e current draft vei needed based or	Hours .50 : Wash EIR. 1.00 rsion of the EIR doc n comments on the I	Rate 90.00 90.00 ument. DEIR and	Amount 45.00 90.00	\$3,126.31
Assis I	stant Enviror Lester, Claire Began N Lester, Claire Complet Changes the conte	onnel onmental Planner e MMRP for the Or e ded MMRP for th s will be made if ents of the FEIR Totals Total Labor	9/13/2019 land Sunny Truck 9/16/2019 e current draft ver needed based or	Hours .50 : Wash EIR. 1.00 rsion of the EIR doc n comments on the I	Rate 90.00 90.00 ument. DEIR and	Amount 45.00 90.00	\$3,126.31
Assis I	stant Enviror Lester, Claire Began N Lester, Claire Complet Changes the conte	onnel onmental Planner e MMRP for the Or e ded MMRP for th s will be made if ents of the FEIR Totals Total Labor	9/13/2019 land Sunny Truck 9/16/2019 e current draft vei needed based or	Hours .50 t Wash EIR. 1.00 rsion of the EIR doc n comments on the I	Rate 90.00 90.00 ument. DEIR and Total this	Amount 45.00 90.00 135.00 Phase	\$3,126.31
Assis l	stant Enviror Lester, Claire Began M Lester, Claire Complet Changes the conte	onnel onmental Planner e MMRP for the Or e ted MMRP for th s will be made if ents of the FEIR Totals Total Labor 07 finel	9/13/2019 land Sunny Truck 9/16/2019 e current draft ver needed based or . Project Manageme	Hours .50 : Wash EIR. 1.00 rsion of the EIR doc n comments on the I	Rate 90.00 90.00 ument. DEIR and	Amount 45.00 90.00	\$3,126.31
Assis l	stant Enviror Lester, Claire Began M Lester, Claire Complet Changes the conte	onnel onmental Planner e MMRP for the Or e ded MMRP for th s will be made if ents of the FEIR Totals Total Labor	9/13/2019 land Sunny Truck 9/16/2019 e current draft ver needed based or . Project Manageme	Hours .50 t Wash EIR. 1.00 rsion of the EIR doc n comments on the I	Rate 90.00 90.00 ument. DEIR and Total this	Amount 45.00 90.00 135.00 Phase	\$3,126.31
Assis land	stant Enviror Lester, Claire Began M Lester, Claire Complet Changes the conte	onnel onmental Planner e MMRP for the Or e ted MMRP for th s will be made if ents of the FEIR Totals Total Labor 07 finel	9/13/2019 land Sunny Truck 9/16/2019 e current draft ver needed based or . Project Manageme	Hours .50 t Wash EIR. 1.00 rsion of the EIR doc n comments on the I	Rate 90.00 90.00 ument. DEIR and Total this	Amount 45.00 90.00 135.00 Phase	\$3,126.31
Assis	stant Enviror Lester, Claire Began M Lester, Claire Complet Changes the conte	onel mental Planner MMRP for the Or eted MMRP for the s will be made if ents of the FEIR Totals Total Labor 07 nel I Planner/Proj. M	9/13/2019 land Sunny Truck 9/16/2019 e current draft ver needed based or . Project Manageme	Hours .50 X Wash EIR. 1.00 rsion of the EIR doc comments on the I 1.50 1.50 Hours	Rate 90.00 90.00 ument. DEIR and Total this	Amount 45.00 90.00 135.00 Phase Amount	\$3,126.31

Project	2019-045	Orland Truck Wash	and Annexation	n Area	Invoice	88440
	Prep. for DEIR for	distribution and address fina	l inputs			
F	riend, Scott	9/23/2019	1.00	185.00	185.00	
	DEIR filing and not	icing				
	Totals		2.00		370.00	
	Total Lab	oor				370.00
				Total thi	is Phase	\$370.00
				Total this	Invoice	\$3,957.56

Authorized By: Vorca Cockran Date: 10.21.19

Wichael Martin

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

October 23, 2019

Project No:

2017-161.02

Invoice No:

Rate

88503

Amount

City of Orland 815 Fourth Street Orland, CA 95963

Project

2017-161.02

City of Orland - On-Call Planning 2019/2020

Hours

Senior Planner \$110

Senior Planner/Project Manager \$120

Assistant Planner \$85

Professional Services from September 1, 2019 to September 30, 2019

Phase

001 On-Call Planning Support

Professional Personnel

Sr. Environmental Planner				
Martin, Michael	9/10/2019	4.00	120.00	480.00
	e Lane Plaza Project Initia	Study		
Martin, Michael	9/26/2019	1.00	120.00	120.00
writing Commerce F	Plaza Initial Study			
Martin, Michael	9/27/2019	6.75	120.00	810.00
writing Commerce F	Plaza Initial Study			
Assistant Environmental Plan	nner			
Lester, Claire	9/5/2019	.50	85.00	42.50
Completed SB 2 app	olication.			
Lester, Claire	9/6/2019	6.00	85.00	510.00
Began extensive pla	nning commission staff re	port		
Lester, Claire	9/9/2019	8.00	85.00	680.00
Preparation of the ex Truck Wash EIR.	xtensive City Council staff	report for the O	rland Sunny	
Lester, Claire	9/10/2019	6.50	85.00	552.50
The Statement of Ov Sunny Truck Wash F	verriding Considerations ar FEIR.	nd Findings for t	the Orland	
Lester, Claire	9/11/2019	5.00	85.00	425.00
	ment of Overriding Considuck Wash FEIR. Attachme EIR.			
Lester, Claire	9/18/2019	2.00	85.00	170.00
Created a developme Orland.	ent impact fee matrix to dir	ect a new fee s	chedule in	
Lester, Claire	9/19/2019	.50	85.00	42.50
Created a summary fee schedule in Orlar	for the development impac nd.	t fee matrix to o	lirect a new	
Lester, Claire	9/20/2019	.50	85.00	42.50
Added Red Bluff rate new fee schedule in	s to the development impa Orland.	act fee matrix to	direct a	
Lester, Claire	9/26/2019	2.50	85.00	212.50
	ent impact fee matrix. Crea ings of the user fee and de			
Lester, Claire	9/27/2019	2.00	85.00	170.00
Completed fee matrix	and PowerPoint presenta	ition.		

Project	2017-161.02	City of Orland On-Call	Planning 19	/20	Invoice	88503
Sr. E	nvironmental Planner/Pro	oj. Manager				
	riend, Scott	9/4/2019	6.50	120.00	780.00	
	On-call, on-site staffin	ng hours				
F	riend, Scott	9/6/2019	1.50	120.00	180.00	
		tter (sign); B Ruiz SPR lette	r			
F	riend, Scott	9/9/2019	1.50	120.00	180.00	
	and Ed re: retention b	and Ken on Berry Patch pa pasin issues in Lynwood pro way cut and encroachment	ject; commu	nication with		
F	riend, Scott	9/11/2019	7.00	120.00	840.00	
	Weekly on-call staffin	g hours				
F	riend, Scott	9/12/2019	1.50	120.00	180.00	
	Lynwood retention ba mapping data	sis follow-up and work with	OVFD re: fir	e hydrant		
F	riend, Scott	9/13/2019	.50	120.00	60.00	
	Call with Building re:	need for public improvemen	ts at Chevro	n station		
F	riend, Scott	9/16/2019	1.00	120.00	120.00	
		of housing tour route and inf	o.			
F	riend, Scott	9/18/2019	7.00	120.00	840.00	
	regular contract staffir			124,00		
F	riend, Scott	9/19/2019	1.50	120.00	180.00	
		oad issue; impact fee resear			100.00	
Fr	iend, Scott	9/20/2019	1.00	120.00	120.00	
		s and final report review				
Fr	iend, Scott	9/23/2019	1.00	120.00	120.00	
	Sunny Truck wash DE					
Fr	iend, Scott	9/24/2019	.50	120.00	60.00	
	Routing of projects for		.00	.20.00	00.00	
Er	iend, Scott	9/25/2019	6.50	120.00	780.00	
	on-call planning staffir		0.50	120.00	700.00	
E.	iend, Scott	9/27/2019	3.50	120.00	420.00	
Li			3.50	120.00	420.00	
F-	Study Session PPT ar		5.00	120.00	600.00	
FI	iend, Scott	9/30/2019	5.00	120.00	600.00	
	Fee Studies – PC/CC	Work Session	00.75		0.747.50	
	Totals		90.75		9,717.50	0.747.50
	Total Labor	*				9,717.50
Jnit Billing	3					
Mileage rat						
9/30/20		age			131.08	
5/50/20	Total Units	~g~			131.08	131.08
	Total Office				101.00	
				Total this	Phase	\$9,848.58
				Total this li	nvoice	\$9,848.58

Authorized By: Scott Friend Date: 10.23.19

051193

ORLAND, CA 95963 ECO01 ECORP CONSULTING, INC Invoice ID Inv Date Invoice Description Gross Total Discount 8567&8592-Nov 26 2019 TRUCK WASH, RECREATION TRAIL, PROFESSIONAL 14,405.00 14,405.00 14,405.00 .00 Totals 14,405.00

Date 11/27/19

Ck #

051193

CITY OF ORLAND

815 FOURTH ST. ORLAND, CA 95963 UMPQUA BANK (1-866-486-7782) 96-505/1232 50090

Jo 051193

PAY *******14,405*DOLLARS*AND*00*CENTS**

CHECK DATE PAY EXACTLY

11/27/19 *****14,405.00*

TO THE ORDER OF

Vendor

Vendor Name

ECORP CONSULTING, INC 2525 WARREN DRIVE ROCKLIN CA 95677 TWO SIGNATURES REQUIRED FOR AMOUNTS OVER \$1000

James + archall

#051193# :123205054: 0007051/131#

To be completed by requesting department:		
Date Submitted: 11/26/19		
Vendor # ECO01		
Make warrant payable to: ECORP Address: City and State:		
Invoice # or Statement Date: 88567	' & 88592	
Description of Item(s) purchased: S Professional Service	unny Orland Tr	uck Wash & Recreation Trail October 20
00 <u>5060</u> <u>210</u> 27 <u>5400</u> <u>210</u>	\$ 14,090.00	Professional Services Sewer
73 <u>6274</u> <u>210</u> 00 <u>2239</u>		Recreation Grant Orland Truck Wash
	\$	Shara Frank Wash
_	\$	
	\$ \$	
Amount of Request:	\$ 14,405.00	_ ×
Authorizing Signature:	ĺ	
To be completed by Finance: Date received:		
Date received: Date paid: Warrant Number:		

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

November 11, 2019

Project No:

2018-135

Invoice No:

88567

City of Orland 815 Fourth Street Orland, CA 95963

Project

2018-135

Orland Recreational Trail Improvement Project

Professional Services from October 1, 2019 to October 31, 2019

Phase

007

Admin Final IS/MND

Professional Personnel

	Hours	Rate	Amount	
'PM				
5/14/2019	.50	115.00	57.50	
	.50		57.50	
				57.50
		Total this	Phase	\$57.50
		Total this I	nvoice	\$57.50
	5/14/2019	7PM 5/14/2019 .50 .50	/PM 5/14/2019 .50 115.00 .50 Total this	5/14/2019 .50 115.00 57.50 .50 .50 .50 .50 .50 .50 .50 .50 .50

Authorized By:

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

November 12, 2019

Project No:

2019-045

Invoice No:

88592

City of Orland 815 Fourth Street Orland, CA 95963

Project

2019-045

Orland Truck Wash and Annexation Area Project EIR

Professional Services from October 1, 2019 to October 31, 2019

Phase	007	Project Management				
Professiona	I Personnel					
			Hours	Rate	Amount	
Sr. Envir	onmental Planner					
Mart	tin, Michael	10/9/2019	.50	145.00	72.50	
	Billing reviews					
Sr. Envir	onmental Planner/	Proj. Manager				
Frier	nd, Scott	10/31/2019	1.00	185.00	185.00	
	Proof review draft	staff report				
	Totals		1.50		257.50	
	Total La	bor				257.50
	3			Total this	Phase	\$257.50

Total this Invoice

\$257.50

Authorized By

Michael Martin

Date:

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

November 19, 2019

Project No:

2017-161.02

Invoice No:

88571

City of Orland 815 Fourth Street Orland, CA 95963

Senior Planner \$110

Project

2017-161.02

Fee Study -00 Plng

DIF - 35 allocated

Commerce Plaza - dev.

Hotel - dev.

City of Orland - On-Call Planning 2019/2020

Professional Services from October 1, 2019 to October 31, 2019

Senior Planner/Project Manager \$120 Assistant Planner \$85

Phase **Professional Personnel** On-Call Planning Support

		Hours	Rate	Amount
Sr. Environmental Planner				
Martin, Michael	10/2/2019	6.00	120.00	720.00
	erce Lane Plaza Project	IS		
Martin, Michael	10/25/2019	3.00	120.00	360.00
Review of new 2019 A	DU housing laws			
Martin, Michael	10/28/2019	1.50	120.00	180.00
Review of new ADU la	ws and comparison with	existing city co	ode	
Senior Planner				
Summerville, Samuel	10/7/2019	.50	110.00	55.00
Public hearing notice (report and ordinance.	PHN) for fee study ordin	ance and begin	n PC staff	
Summerville, Samuel	10/14/2019	1.00	110.00	110.00
Draft City Council staff Updates.	report for Development	Impact and Us	er Fee	
Summerville, Samuel	10/17/2019	3.00	110.00	330.00
Edits to Vending FAQ : Fee update.	sheet. Draft staff report t	for Developmer	nt and User	
Summerville, Samuel	10/18/2019	2.50	110.00	275.00
Edits to Vending FAQ s	sheet. Draft staff report f	for Developmer	t and User	
Summerville, Samuel	10/21/2019	2.00	110.00	220.00
Development Impact a	nd User Fee Update - st	aff report, ordin	ance, PHN.	
Summerville, Samuel DIF report.	10/22/2019	2.00	110.00	220.00
Summerville, Samuel	10/31/2019	1.00	110.00	110.00
Council staff report, fee	update.			
Assistant Environmental Planne	r			
Lester, Claire	10/3/2019	4.50	85.00	382.50
Completed the staff rep center.	ort and attachments for	the Sunny Truc	ck Service	
Lester, Claire	10/4/2019	2.00	85.00	170.00
Created a CEQA FAQ s	sheet for the Orland Plan	nning Departme	ent.	
Lester, Claire	10/9/2019	.50	85.00	42.50
Formatted all 4 FAQ ex cohesive.	isting sheets for the Pla	nning Departme	ent to be	

t	2017-161.02	City of Orland On-Ca	all Planning 19	/20	Invoice	88571
Lest	er, Claire	10/10/2019	5.50	85.00	467.50	
		th the City Manager regard v FAQ sheets and editing e				
	er, Claire	10/11/2019	2.00	85.00	170.00	
		and setback FAQ sheets. S			170.00	
		e in other cities to gather ic				
	er, Claire	10/14/2019	5.50	85.00	467.50	
		matrix based on suggestio			101.00	
		nore FAQ sheets for the Plant				
Lest	er, Claire	10/15/2019	1.50	85.00	127.50	
	fees from the meetin	matrix for Orland and highl g with the City Manager ar or existing landscaping rec of other cities.	d City Planner	r. Searched		
	er, Claire	10/16/2019	1.50	85.00	127.50	
	Made changes to the	Mobile Vending and Setba for review and discussed the				
	er, Claire	10/21/2019	1.50	85.00	127.50	
	1.5 hours: Began ger	nerating the requirements of egan the PC staff report.				
Leste	er, Claire	10/22/2019	4.50	85.00	382.50	
1	noticing and hearing	Plant Municipal Code Amen timelines, drafted the zonir the PC and CC staff repor	ng code text ar	nendment		
Leste	er, Claire	10/23/2019	5.00	85.00	425.00	
F	ackages for the PC	he draft landscaping and b and CC. Created a landsca n for change to the PC and	aping comparis			
	r, Claire	10/24/2019	4.50	85.00	382.50	
4	hours: Mexicali Tag	ueria site plan review lette omplete review letter.	r. 0.5 hour: Be	gan		
Leste	r, Claire	10/25/2019	3.50	85.00	297.50	
C F T	Created template AB Created Commerce F Red Barn Tribal Cons ruck Service Center	exicali Taqueria site plan re 52 & SB 18 tribal consultat Plaza Tribal Consultation Pa sultation Package. 0.5 hour Tribal Consultation Packag	tion letters. 1 h ackage. 1 hou : Created Orla ge.	our: r: Created nd Sunny		
	r, Claire	10/28/2019	4.00	85.00	340.00	
h ir a	our: Completed Com ncluding site map. 1 l ttachments, including	SB 18, AB 52, and combinerce Plaza SB 18 letter and sour: Completed Red Roof g site map. 1 hour: Sunny combination and attachmen	and attachmen Hotel SB 18 le Fruck Service (its, etter and		
Leste	r, Claire	10/29/2019	6.50	85.00	552.50	
re a s	evisions. 3.5 hours: 0 dmin draft initial stud pecifications. Figures	site plans for Mexicali Taq Completed the majority of the ly as per the latest propose a and minor details remain cosed hotel initial study.	ne Commerce d project site	Plaza plan and		
	, Claire	10/30/2019	6.50	85.00	552.50	
0 m re C	5 hours: Created "shaps for the Commer evisions upon review ompleted the admin	novel-ready" land map. 1 ho ce Plaza admin draft initial. Minor details remain to be draft initial study itself and or details remain to be com li Site Plan Review.	study and made completed. 4 maps for the p	de small hours: roposed		
	, Claire	10/31/2019	3.00	85.00	255.00	
1.		draft IS for Commerce Pla			=14/14	

ect 20	017-161.02	City of Orland On-	Call Planning 19	/20	Invoice	88571
Sr. Environm	nental Planner/Pr	oi. Manager				
Friend, S		10/2/2019	6.50	120.00	780.00	
300000000000000000000000000000000000000	ular, on-call, on-s					
Friend, S		10/3/2019	1.50	120.00	180.00	
Follo		e calls: Realtor; Freewa	ay sign co.; appr	aiser info.;		
Friend, S	Scott	10/9/2019	6.50	120.00	780.00	
on-c	all staffing hours					
Friend, S	Scott	10/10/2019	5.00	120.00	600.00	
	urn 2 phone calls ets; PC staff repo	; respond to realtor inqui orts for Angie	ry re: ADU's; fin	alize FAQ		
Friend, S		10/14/2019	1.50	120.00	180.00	
		nd landowner calls				
Friend, S	The state of the s	10/16/2019	6.50	120.00	780.00	
on-c		hours (3x pre-app mtg's				
Friend, S		10/17/2019	2.50	120.00	300.00	
		meeting (Oct.) and pre	p. for meeting			
Friend, S		10/18/2019	.50	120.00	60.00	
Friend, S		10/22/2019	.50	120.00	60.00	
Call		up with Ed and Ken re: p			00.00	
Friend, S		10/23/2019	7.00	120.00	840.00	
		ing staff hours; Prep. for				
Friend, S		10/24/2019	2.50	120.00	300.00	
	ber Planning Cor					
Friend, S		10/25/2019	1.50	120.00	180.00	
		w-up items (provide add	tl. details to PC			
Friend, S		10/28/2019	1.00	120.00	120.00	
Call		y Patch paving; Mexicali	Taqueria; Email	I from Becky		
Friend, Se	cott	10/29/2019	6.50	120.00	780.00	
	all, on-site office					
Friend, So		10/30/2019	.50	120.00	60.00	
		oof Hotel and Commerce	e Plaza IS's			
Friend, So		10/31/2019	2.00	120.00	240.00	
	ew of Draft Red F		2000-27-4			
- 5 5 - 5 5 - 5 5 5	Totals		136.50		14,090.00	
	Total Labor		4,000		- Alvestone	14,090.00
				Total this	Phase	\$14,090.00
						54,443

Total this Invoice

Authorized By: Aria Cochren Date: 11.19.19

\$14,090.00

051348 CITY OF ORLAND

Vendor Date 01/02/20 Vendor Name Ck # 051348 ORLAND, CA 95963 ECO01 ECORP CONSULTING, INC

Invoice II	Inv Date	Invoice Description	Gross	Discount	Total
Invoice II 8984&8894-	Dec 27 2019	Invoice Description SUNNY TRUCK WASH & PROFESSIONAL SVCS NOV 2	***	Discount	Total 12,006.76
		• •			
		Totals	12,006.78	.00	12,006.78

CITY OF ORLAND

815 FOURTH ST. ORLAND, CA 95963 **UMPQUA BANK**

96-505/1232 50090

No. 051348

PAY *******12,006*DOLLARS*AND*78*CENTS**

CHECK DATE PAY EXACTLY ***12,006.78*

TO THE ORDER OF

> ECORP CONSULTING, INC 2525 WARREN DRIVE 95677 ROCKLIN

TWO SIGNATURES REQUIRED FOR AMOUNTS OVER \$1000

To be completed by requesting department:		
Date Submitted: 12/23/19		
Vendor# ECO01		
Make warrant payable to: ECORI Address: City and State:		
Invoice # or Statement Date: 889	84 & 88894	
Description of Item(s) purchased:	Sunny Truck Wa	sh, Professional Svcs. Nov 2019
00 5060 210 27 5400 210 73 6274 210	\$ 10,784.28	Professional Services Sewer Recreation Grant
00 2239		Orland Truck Wash
	\$ \$	
	\$	
-	\$	-
Amount of Request:	\$ 12,006.78	×
Authorizing Signature:	pro	
×		
To be completed by Finance:		
Date received: Date paid:		
Warrant Number:		

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

December 18, 2019

Project No:

2017-161.02

Invoice No:

88984

City of Orland 815 Fourth Street Orland, CA 95963

Project

2017-161.02

City of Orland - On-Call Planning 2019/2020

Senior Planner \$110 Senior Planner/Project Manager \$120 Assistant Planner \$85

hase 00	1	On-Call Planning Supp	ort		
rofessional Personn	el				
			Hours	Rate	Amount
Sr. Environmental	Planner				7
Martin, Michae		11/15/2019	6.00	120.00	720.00
		ibits for Orland Planning Fe	7.17.7	191/42	427000
Martin, Michae		11/18/2019	1.00	120.00	120.00
Planning a	and DIF Fe	e Staff reports and Resolu	tions		
Martin, Michae		11/19/2019	2.00	120.00	240.00
		e Staff reports and Resolu	tions		
Martin, Michae		11/20/2019	5.00	120.00	600.00
Planning a	nd DIF Fe	e staff reports and resolution	ons		
Martin, Michae		11/26/2019	1.00	120.00	120.00
Assembly	and mailin	g of SB 2 application			
Senior Planner					
Summerville, S	amuel	11/1/2019	.50	110.00	55.00
public hea Hearing O		, DIF and User Fee Update ess.	e. Draft framev	vork for	
Assistant Environm	ental Plan	ner			
Lester, Claire		11/4/2019	2.50	85.00	212.50
	s shovel r	ed acreage, owners, and D eady project in the Camp F n Orland			
Lester, Claire		11/5/2019	5.50	85.00	467.50
Edited hote	el IS per S Orland to d	mmerce Plaza IS per Scott' cott's comments. 2.5 hours etemine where residential o	: Began vacan	t land	
Lester, Claire		11/6/2019	3.00	85.00	255.00
		acant land survey in Orland ent can be constructed.	to detemine v	vhere	
Lester, Claire		11/7/2019	3.00	85.00	255.00
detemine w final draft ir	here residualing supported the contraction of the c	I initial draft vacant land sur lential development can be aggested revisions. 1.5 hou Plan Review including pro- ncies.	constructed. E rs: Completed	Began the the	
Lester, Claire		11/8/2019	.50	85.00	42.50
0.5 hours: 0	completed	Mexcali site plan review.			
			1.00	05.00	85.00
Lester, Claire		11/11/2019	1.00	85.00	05.00

Project	2017-161.02	City of Orland On-Ca	all Planning 19	9/20	Invoice	88984
	Lester, Claire	11/12/2019	5.00	85.00	425.00	
	the Sunny Truck Ser and attachments for zoning amendment F	d the draft conditional use vice Center Project. Made the project. 2 hours: Revis C staff reports as per Scoude an amendment adoption	revisions to the ded bee and la ott's comments	ne staff report ndscaping		
	Lester, Claire	11/13/2019	3.50	85.00	297.50	
	Revised bee keeping Created a CC meetin Commerce Plaza and	keeping code amendment & landscaping CC staff re g legal notice. 0.5 hour: cr I Hotel IS's. 1.5 hours: Be eet new ADU law requirem	eport and ordine reated PDFs of gan revising C	nance. of the		
	Lester, Claire	11/14/2019	4.50	85.00	382.50	
	4.5 hours: Finished d ADU law requirement	raft revisions to Orland Muss.	unicipal Code	to meet new		
	Lester, Claire	11/15/2019	4.00	85.00	340.00	
	 1.5 hours: Added coo Drove to each parcel 	rdinates to Orland Vacant to verify construction is no	Land Survey.	2.5 hours: curring.		
1	Lester, Claire	11/18/2019	3.50	85.00	297.50	
		and vacant land survey foll updated ADU FAQ sheet t				
1	_ester, Claire	11/20/2019	1.50	85.00	127.50	
		ficient landscaping zoning LO legal requirements.	code text am	endment		
1	ester, Claire	11/21/2019	3.50	85.00	297.50	
	ordinance to the Orlar	taff report for discussion on ad zoning code. 0.5 hour: to for publication 0.5 hour: re	finalized vacai	nt land		
L	ester, Claire	11/26/2019	2.00	85.00	170.00	
	2 hours: Completed fu	orther review and tech edit staff report package. Printe 11/27/2019	ing of the Orla		127.50	
	1.5 hours: determined	PC & CC meeting and he ervice Center EIR. Prepar	aring schedul	e for the	121.00	
	riend, Scott	11/1/2019	2.00	120.00	240.00	
	Marin E. L. San W	consultant re: post Camp			227.3 (464)	
F		11/6/2019		120.00	840.00	
	On-call, on-site staffing					
F	riend, Scott	11/7/2019	2.00	120.00	240.00	
		s with Section 8 housing d s search (0.5)	leveloper (0.5)); Bldg.	+	
F	riend, Scott	11/13/2019	6.50	120.00	780.00	
	on-site staffing hours;	(0.5) work on CC Fee Stud	dy Report			
F	riend, Scott	11/14/2019	5.00	120.00	600.00	
	CC fee study report an	d presentation				
F	riend, Scott Fee Study Report (age	11/15/2019 enda mod's)	2.00	120.00	240.00	
F	riend, Scott	11/18/2019	5.50	120.00	660.00	
	CC fee study meeting	and prep.; delivery of Mex 's for Red Roof and Comn		review		
Fi	riend, Scott Call with Housing Auth	11/19/2019 ority of Butte County re: M	.50 IOU	120.00	60.00	
Fr	riend, Scott	11/20/2019	6.50	120.00	780.00	
•	on-call, on-site planning		2.20	,		
Fr	iend, Scott	11/21/2019 housing project inquiries;	2.00	120.00	240.00	
	sewer and 6th St. well		cans with Ner	16. IVIIVI		

Project	2017	-161.02	City of Orland	On-Call Planning 19	0/20	Invoice	88984
F	riend, Scot	tt	11/25/2019	2.50	120.00	300.00	
	SB2 ap	plication					
F	riend, Scot	tt	11/26/2019	1.00	120.00	120.00	
		erce Plaza Rezon		of Hotel follow-ups;	Sunny Truck		
		Totals		102.50		10,737.50	
		Total Labor					10,737.50
Reimburs	able Expe	nses					
Proje	ct Expense	s					
11	/30/2019	Michael Martin		11/26 Postage		8.38	
Reim	bursable Ex	xpenses					
11	/30/2019	Michael Martin		11/26 Mileage		3.48	
11	/30/2019	Claire Lester		11/15 Mileage		34.92	
		Total Reimbur	rsables			46.78	46.78
					Total thi	s Phase	\$10,784.28
					Total this	Invoice	\$10,784.28

Authorized By:
Scott Friend

Page 3

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

December 11, 2019

Project No:

2019-045

Invoice No:

Total this Invoice

\$1,222.50

88894

City of Orland 815 Fourth Street

PRC

Orland, CA 95963

Project	2019-045	Orland Truck	Wash and Ann	exation Area Pr	oject FIR	
		ovember 1, 2019 to Novem			Signature	
Phase	006	Final EIR/NOD/MMRF				
	nal Personnel	,				
			Hours	Rate	Amount	
Assis	tant Environmental Pla	anner	110410	71410	rimount	
	ester, Claire	11/11/2019	4.00	90.00	360.00	
		ling responses to comments	i.			
L	ester, Claire	11/12/2019	.50	90.00	45.00	
		sponses to comments.				
L	ester, Claire	11/13/2019	1.00	90.00	90.00	
	Completed the FEI comment letters.	R to the extent feasible prio	r to receiving re	emaining		
Le	ester, Claire	11/21/2019	2.50	90.00	225.00	
	Completed the FEI	R and continued work on the	e MMRP for the	e Project.		
Le	ester, Claire	11/22/2019	2.00	90.00	180.00	
	Completed the MM	RP for the Project.				
Le	ester, Claire	11/26/2019	.50	90.00	45.00	
	Reviewed FEIR an	d printed for review by Proje	ect Manager.			
	Totals		10.50		945.00	
	Total Lab	oor				945.00
				Total this	Phase	\$945.00
Phase	007	Project Management				
Profession	nal Personnel					
			Hours	Rate	Amount	
Sr. En	vironmental Planner/P	Proi. Manager				
	iend, Scott	11/1/2019	.50	185.00	92.50	
	Review of draft lega					
Fr	end, Scott	11/25/2019	1.00	185.00	185.00	
	Initial Staff Report r	eview	16			
	Totals		1.50		277.50	
	Total Lab	or				277.50
				Total this	Phase	\$277.50

Project	2019-045	Orland Truck Wash and Anne	xation Area	Invoice	88894
Authorized	By: Michael Martin	rie Cockram	Date:	12.11.19	

05150 CITY OF ORLAND

ORLAND, CA 95963 ECO01 ECORP CONSULTING, INC Invoice ID Inv Date Invoice Description Gross Discount Total 9266&9244-10,813.99 10,813.99 Jan 28 2020 SUNNY TRUCK WASH, PROFESSIONAL SVCS DEC 201

Date 01/30/20

051507

CITY OF ORLAND

815 FOURTH ST. ORLAND, CA 95963 UMPQUA BANK (1-866-486-7782)

Totals

96-505/1232 50090

10,813.99

051507

10,813.99

PAY *******10,813*DOLLARS*AND*99*CENTS**

CHECK DATE 01/30/20

PAY EXACTLY *****10,813.99*

TO THE

Vendor

Vendor Name

ORDER OF ECORP CONSULTING, INC 2525 WARREN DRIVE ROCKLIN CA 95677

TWO SIGNATURES REQUIRED FOR AMOUNTS OVER \$1000

.00

"O51507" :123205054: 0007051141

	To be completed by requesting department:			
Make warrant payable to: ECORP Address: City and State: Invoice # or Statement Date: 89266 & 89244 Description of Item(s) purchased: Sunny Truck Wash, Professional Svcs. DEC 2018 00 5060 210 \$ 7,111.49 Professional Services 27 5400 210 Sewer 73 6274 210 Recreation Grant 00 2239 \$ 3,702.50 Orland Truck Wash	Date Submitted: 1/28/20			
Address: City and State: Invoice # or Statement Date: 89266 & 89244 Description of Item(s) purchased: Sunny Truck Wash, Professional Svcs. DEC 2019 00 5060 210 \$ 7,111.49 Professional Services 27 5400 210 Sewer 73 6274 210 Recreation Grant 00 2239 \$ 3,702.50 Orland Truck Wash -	Vendor # ECO01			
00 5060 210 \$ 7,111.49 Professional Services 27 5400 210 Sewer Recreation Grant 00 2239 \$ 3,702.50 Orland Truck Wash - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - - - - - - - - - - - - - - - - - - - <td>Address:</td> <td>RP</td> <td>/</td> <td></td>	Address:	RP	/	
00 5060 210 \$ 7,111.49 Professional Services 27 5400 210 Sewer Recreation Grant 00 2239 \$ 3,702.50 Orland Truck Wash - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - \$ - - - - - - - - - - - - - - - - - - - - - - - - - - - - - <td>Invoice # or Statement Date: 89</td> <td>9266 & 89</td> <td>244</td> <td></td>	Invoice # or Statement Date: 89	9266 & 89	244	
27	Description of Item(s) purchase	d: Sunny	Truck Was	sh, Professional Svcs. DEC 2019
27				
00 2239	27 <u>5400</u> <u>210</u>	\$	7,111.49	Sewer
\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$			3,702.50	
Amount of Request: \$ 10,813.99		\$ \$		
Amount of Request: \$ 10,813.99		\$		
	Amount of Request:		10 813 99	- ×
Authorizing Signature:PRC	runount of request.	Ψ	10,010.00	
	Authorizing Signature:	PC		
To be completed by Finance: Date received: Date paid: Warrant Number:	Date received: Date paid:			

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

January 23, 2020

PRC

Project No:

2017-161.02

Invoice No:

89266

City of Orland 815 Fourth Street Orland, CA 95963

Project

2017-161.02

City of Orland - On-Call Planning 2019/2020

Senior Planner \$110

Senior Planner/Project Manager \$120 Assistant Planner \$85

Professional Services from December 1, 2019 to December 31, 2019

Phase

On-Call Planning Support

Professional	Personnel

rofessional Personnel					
		Hours	Rate	Amount	
Sr. Environmental Planner					
Martin, Michael	12/2/2019	3.25	120.00	390.00	
Review and revision	of Sunny Truck Wash EIF	R Findings			
Martin, Michael	12/3/2019	6.00	120.00	720.00	
Review and revision	of Sunny Truck Wash EIF	R Findings			
Martin, Michael	12/11/2019	.50	120.00	60.00	
revision of building of	ode ordinance to update t	o 2019 CBC			
Assistant Environmental Plan	ner				
Lester, Claire	12/2/2019	.50	85.00	42.50	
Completed the PC a Service Center EIR.	nd CC public hearing notic	ces for the Sunr	ny Truck		
Lester, Claire	12/6/2019	1.00	85.00	85.00	
Discussed and amer Code amendment Po	nded the bee keeping and C staff reports.	landscaping Mu	unicipal		
Lester, Claire	12/9/2019	.50	85.00	42.50	
Assisted Scott with p	lanning annual review pre	sentation.			
Lester, Claire	12/12/2019	2.00	85.00	170.00	
Created a new devel adopt fees.	opment impact fee summa	ary for the CC n	neeting to		
Lester, Claire	12/16/2019	5.00	85.00	425.00	
Orland Municipal Co- notice needed to con	de Amendment language, aply with new ADU laws.	staff report, and	d legal		
Lester, Claire	12/17/2019	.50	85.00	42.50	
Reviewed draft PC si (Scott) for review.	aff report package and se	nt all to the City	Planner		
Lester, Claire	12/18/2019	3.50	85.00	297.50	
	DU law change summary ISMND (will be billable at		s: Began		
Lester, Claire	12/19/2019	5.00	85.00	425.00	
date). 2 hours: resear	ne "Red Roof" Hotel ISMNI rched and summarized MV				
Lester, Claire	12/20/2019	2.00	85.00	170.00	
	ne CC and PC staff reports ed landscaping amendme		and		
Lester, Claire	12/23/2019	3.00	85.00	255.00	
Created a PowerPoin present at the PC and	t of the Orland sunny Truc I CC meeting.	k service cente	r project to		

Project 201	7-161.02 City	of Orland On	-Call Planning 19	/20	Invoice	89266
Sr. Environme	ntal Planner/Proj. Manag	ger				
Friend, Sc	ott	12/2/2019	2.50	120.00	300.00	
	ali Taqueria ltr.; Phase I					
	nent for ACE Hardware					
	; call with Ken re: Teham				=72.42	
Friend, Sc		12/4/2019	6.50	120.00	780.00	
	II, on-site planning staffir	T-4-2000 - 1000				
Friend, Sc		12/5/2019	1.50	120.00	180.00	
	eports and fee study follo		4.50	400.00	540.00	
Friend, Sc		12/6/2019	4.50	120.00	540.00	
	ing Comm. Staff Report				100.00	
Friend, Sc		12/9/2019	1.00	120.00	120.00	
	with Butte College; OUW		0.50	100.00	700.00	
Friend, Sc		2/11/2019	6.50	120.00	780.00	
	e, contract staffing hours		4.50	100.00	E40.00	
Friend, Sc		2/12/2019	4.50	120.00	540.00	
Meetir	eff reports (fee studies x2	z); legal notice	es for Jan. PC and	i ist CC		
Friend, Sc	, -	2/13/2019	2.50	120.00	300.00	
	Point for Monday CC me				000.00	
	ng; call with Ed re: storm		1 co cuminary on	1001 101 00		
Friend, Sco		2/16/2019	3.50	120.00	420.00	
	Dept. Update to City Cou	ncil; adoption	of Fee Studies			
Friend, Sco		2/18/2019	6.50	120.00	780.00	
	II, on-site staffing hours (Farsai mtg.; h	ousing meeting;	3 pre-		
apps.)						
Friend, Sco		/19/2019	5.00	120.00	600.00	
signal	nber PC meeting (2 ZCA or roundabout with staff; sions; communication re	communicati	on with Greg/Pete			
Conver	Totals	. INNDO laws	77.25		8,465.00	
	Total Labor		77.25		0,400.00	8,465.0
						0,100.0
Reimbursable Exp	enses					
Project Expens	es					
12/31/2019	Confluent Impact		onfluent Conferen		8.09	
	Communications	De	ec 2019 - Invoice #	# 119912		
Reimbursable E		4.0			00.70	
12/31/2019	Scott M Friend		/19 Mileage		23.78	
12/31/2019	Scott M Friend		/18 Mileage		24.94 56.81	56.8
	Total Reimbursables	5			50.61	30.0
Init Billing						
Mileage rate @ .58						
12/31/2019	Monthly Mileage				84.68	
	Total Units				84.68	84.68
				Total this	Phase	\$8,606.49
				Total this	Invoice	\$8,606.4

Authorized By. Arin Cochron Date: 1.23.2020

Page 2

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

January 21, 2020

Total this Invoice

\$2,207.50

Project No:

2019-045

Invoice No:

89244

City of Orland 815 Fourth Street Orland, CA 95963

Phase	006	Final EIR/NOD/MMRP				
Professional	Personnel					
			Hours	Rate	Amount	
Sr. Envir	onmental Planner					
Mart	in, Michael	12/2/2019	3.00	145.00	435.00	
	Review and produ	uction of Adm Final EIR				
Mart	in, Michael	12/5/2019	1.00	145.00	145.00	
	revision of Adm F	inal EIR				
Marti	in, Michael	12/6/2019	2.00	145.00	290.00	
	revision of Adm F	inal EIR				
Assistant	Environmental P	lanner				
Leste	er, Claire	12/5/2019	1.50	90.00	135.00	
,	Added the Glenn	County letter and responses to	comments to	the FEIR.		
	Totals		7.50		1,005.00	
	Total La	abor				1,005.00
				Total this	Phase	\$1,005.00
 Phase	007	Project Management				
Professional	Personnel					
			Harres	Data	Amount	

Phase	007	Project Management					
rofes	sional Personnel						
			Hours	Rate	Amount		
Sr	. Environmental Planner/	Proj. Manager					
	Friend, Scott	12/2/2019	.50	185.00	92.50		
	follow-up with app	licant's engineer					
	Friend, Scott	12/9/2019	1.50	185.00	277.50		
	QA/QC of draft sta	aff report package					
	Friend, Scott	12/13/2019	1.00	185.00	185.00		
	QA/QC of draft sta	aff report package elements					
	Friend, Scott	12/16/2019	2.50	185.00	462.50		
23	Review of draft sta	aff report package for public hea	aring				
	Friend, Scott	12/20/2019	1.00	185.00	185.00		
	Review and update	e to staff report package					
	Totals		6.50		1,202.50		
	Total La	bor				1,202.50	
				Total this	Phase	\$1,202.50	

Project	2019-045	Orland Truck Wash and Anne	exation Area	Invoice	89244	
Authorized	By:	ria Cerebran	Date:	1.21.202	0	

U515 / CITY OF ORLAND ORLAND, CA 95963

VendorVendor NameDate 02/12/20Ck # 051577EC001ECORP CONSULTING, INC

TIVOICE ID	Inv Date	Invoice Description	Gross	Discount	Total
89300-	Feb 10 2020	PROFESSIONAL SERVICES JAN 2020	10,386.94		10,386.9
, V					

CITY OF ORLAND

815 FOURTH ST. ORLAND, CA 95963 UMPQUA BANK 96-505/1232 (1-866-486-7782) 50090

No. 051577

PAY *******10,386*DOLLARS*AND*94*CENTS**

CHECK DATE PAY EXACTLY

02/12/20 *****10,386.94*

TO THE ORDER OF

ECORP CONSULTING, INC 2525 WARREN DRIVE ROCKLIN CA 95677 TWO SIGNATURES REQUIRED FOR AMOUNTS OVER \$1000

Jelmes tasehall

#051577# #123205054# 0007051/131#

To be completed by requesting department:		
Date Submitted: 2/7/20		
Vendor # ECO01		
Make warrant payable to: ECORP Address: City and State:		
Invoice # or Statement Date: 8930	0	
Description of Item(s) purchased:	Professional Svc	s. Jan 2020
00 5060 210 27 5400 210 73 6274 210 00 2239	\$ 10,386.94	Professional Services Sewer Recreation Grant Orland Truck Wash
	\$	- 110110
	\$ \$	
	\$	2
Amount of Request:	\$ 10,386.94	/
Authorizing Signature:	ne	
To be completed by Finance: Date received: Date paid: Warrant Number:		

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

February 5, 2020

Project No:

2017-161.02

Invoice No:

89300

City of Orland 815 Fourth Street Orland, CA 95963

Project

2017-161.02

City of Orland - On-Call Planning 2019/2020

Senior Planner \$110

Senior Planner/Project Manager \$120 Assistant Planner \$85

Professional Services from January 1, 2020 to January 31, 2020

nase 001	On-Call Planning Supp	ort		
ofessional Personnel				
		Hours	Rate	Amount
Sr. Environmental Plan	ner			
Martin, Michael	1/29/2020	.50	120.00	60.00
Review of ADI	J/JADU ordinance			
Assistant Environmenta	l Planner			
Lester, Claire	1/2/2020	4.00	85.00	340.00
	fee calculator, DIF fee estimation mmary for the new fees effective			
Lester, Claire	1/3/2020	4.00	85.00	340.00
Completed the	draft RFP for the Commerce Pla	za project.		
Lester, Claire	1/6/2020	.50	85.00	42.50
Revised the dr	aft RFP for the Commerce Plaza	Project.		
Lester, Claire	1/9/2020	1.50	85.00	127.50
Began finalizin attachments fo	g the conditions of approval and r the Sunny Truck Service Cente	staff report and r.	i	
Lester, Claire	1/10/2020	3.00	85.00	255.00
meeting. 0.5 hr	ervice Center PowerPoint for Sco s: Began site plan review of Libe	rty Bell Apartm	ents	2.2.
Lester, Claire	1/13/2020	4.00	85.00	340.00
	ell Apartments- Began the initial the applicant project questions.		v of the	
Lester, Claire	1/14/2020	3.50	85.00	297.50
review letter. C	Bell Apartments- Completed the ompleted the routing letter. 1 hrs. port and attachments for the bee	Completed th	e CC	
Lester, Claire	1/15/2020	3.00	85.00	255.00
Completed the	Bell Apartments- Completed the routing letter. Discussed Project ().5 hrs: gathering scopes of work IND.	questions on p	hone with	
Lester, Claire	1/16/2020	4.50	85.00	382.50
attachments wit	d bee and landscaping CC meet h edits requested by City Planne nit approval packet for			
Lester, Claire	1/20/2020	1.00	85.00	85.00
Discussed infor	mation in the site plan review and d updated the information in the o	f routing letter documents.	with the	

Project	2017-161.02	City of Orland On-Ca	all Planning 19	9/20	Invoice	89300
	Lester, Claire	1/21/2020	1.00	85.00	85.00	
	Compiled the routing for distribution	letter and attachments ar	nd sent all to A	ngie Crook		
	Lester, Claire	1/22/2020	.50	85.00	42.50	
		nt and City Planner plus e eview and meeting proces		Woodward		
	Lester, Claire	1/24/2020	1.00	85.00	85.00	
	Created a summary of with the Applicant an	of the Red Roof Hotel RFF d City Manager	of for a Monday	/ meeting		
	Lester, Claire	1/27/2020	7.00	85.00	595.00	
	City Manager. 5.5 hrs	tel project meeting with A s: Revisions to recommental al Plan designations in the aff report.	dations regard	ing		
1	Lester, Claire	1/28/2020	2.00	85.00	170.00	
	Completed PC staff reprezoning and GP de	eport package with revisions signations.	ons to recomm	ended		
1.0	Lester, Claire	1/29/2020	2.00	85.00	170.00	
C- F	report and legal notice		d finalized the	PC staff		
	invironmental Planner/Pro		0.00	400.00	040.00	
1	Friend, Scott	1/2/2020	2.00	120.00	240.00	
	transmittal to GIC	; business license call; Zo				
F	Friend, Scott GCBOE Generator; B	1/3/2020 ldg. Code Ord.	3.00	120.00	360.00	
F	Friend, Scott Return x12 phone call	1/6/2020	2.00	120.00	240.00	
	Friend, Scott	1/7/2020	1.00	120.00	120.00	
		Bell APTS developer re: er			120.00	
-	Friend, Scott	1/8/2020	6.50	120.00	780.00	
			0.50	120.00	700.00	
-	On-call, on-site staffin		3.50	120.00	420.00	
	Friend, Scott	1/9/2020			420.00	
F	riend, Scott	oning RFP; Sunny Truck V 1/10/2020	4.50	120.00	540.00	
	Preparation of 2020 P applicant and Angle re Ord. to John and Rebe	roject Matrix; Engagemen e: public hearing continuar ecca	it with Sunny T nce; Bldg. Cod	ruck Wash e Adoption		
F	riend, Scott Liberty Bell APTS Site	1/14/2020	.50	120.00	60.00	
F	riend, Scott	1/15/2020	6.00	120.00	720.00	
F	Contract staffing hours riend, Scott	1/16/2020	3.50	120.00	420.00	
		PC meeting - Sunny Truck	wash project			
F	riend, Scott Post PC meeting follow	1/17/2020 v-ups; return phone calls	1.00	120.00	120.00	
F	riend, Scott return phone calls	1/20/2020	.50	120.00	60.00	
F	riend, Scott	1/22/2020	6.00	120.00	720.00	
Fr	on-call, on-site staffing riend, Scott	1/23/2020	2.00	120.00	240.00	
	Calls and meeting cool	rdination (SHPO, Hotel, C	arly Shannon	ADU)		
Fr	riend, Scott	1/27/2020	1.50	120.00	180.00	
Fr	Meeting with Josephine riend, Scott	e and Co. re: Hotel in Orla 1/28/2020	and .50	120.00	60.00	
	Communications w/ K1	2 Architect re: Caltrans Is	sues at car wa	ash		
Fr	iend, Scott = On-call, on-site contrac	1/29/2020 st staffing hours	6.50	120.00	780.00	

Project	2017-161.02	City of Orland On-	Call Planning 19/	20	Invoice	89300
Fr	iend, Scott	1/30/2020	3.00	120.00	360.00	
	AB430 workshop -	Oroville				
Fr	iend, Scott	1/31/2020	1.50	120.00	180.00	
	RFP materials to A	angie; phone calls x3; revie	ew of SB2 emails	from HCD		
	Totals		98.00		10,272.50	
	Total La	bor				10,272.50
Reimbursa	able Expenses					
Reimb	ursable Expenses					
1/1	6/2020 Scott M I	Friend 1/	15 Mileage		23.58	
1/1	6/2020 Scott M F	Friend 1/	16 Mileage		23.58	
	Total Re	imbursables			47.16	47.16
Unit Billing	3					
Mileage Ra	te @ 57.5					
1/31/20	영화 가득하다 하다 하는 그들은 사람들이 되었다.	Mileage			67.28	
	Total Un	its			67.28	67.28
				Total thi	s Phase	\$10,386.94
				Total this	Invoice	\$10,386.94

Outstanding Invoices

 Number
 Date
 Balance

 89266
 1/23/2020
 8,606.49

 Total
 8,606.49

Authorized By:

Date

U51650 CITY OF ORLAND ORLAND, CA 95963

	Vendor Nam	e	Date 02/27/20	Ck #	051650	
ECO01	ECORP CON	SULTING, INC				
Invoice	ID Inv Date	Invoice Desc	ription		Gross	Discount

Invoice ID	Inv Date	Invoice Description	Gross	Discount	Total
89406-	Feb 26 2020	ORLAND SUNNY TRUCK WASH JAN 2020	1,665.00		1,665.0
7					
		Totals	1,665.00	.00	1,665.00

CITY OF ORLAND

815 FOURTH ST. ORLAND, CA 95963 UMPQUA BANK (1-866-486-7782) 96-505/1232 50090

051650

0

No.

PAY ********1,665*DOLLARS*AND*00*CENTS**

CHECK DATE PAY EXACTLY
02/27/20 *****1,665.00*

TO THE ORDER OF

ECORP CONSULTING, INC 2525 WARREN DRIVE ROCKLIN CA 95677 TWO SIGNATURES REQUIRED FOR AMOUNTS OVER \$1000

JOHN STEVENHO M James Perschall M

"O51650" ::123205054: 0007051141"

To be completed by requesting department:		
Date Submitted: 2/25/20		
Vendor # ECO01		
Make warrant payable to: ECORP Address: City and State:	/	
Invoice # or Statement Date: 89406		
Description of Item(s) purchased: O	rland Sunny Tr	uck Wash. Jan 2020
00 5060 210 27 5400 210 73 6274 210 00 2239 — Amount of Request:	\$ 1,665.00 \$ \$ \$ \$ \$	Professional Services Sewer Recreation Grant Orland Truck Wash
Amount of Request.	ў 1,005.00	
Authorizing Signature:	<u></u>	
· ·		
To be completed by Finance: Date received: Date paid: Warrant Number:		

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

February 14, 2020

Project No:

2019-045

Invoice No:

89406

City of Orland 815 Fourth Street

Orland, CA 95963

Sunn

Project

2019-045

Orland Truck Wash and Annexation Area Project EIR

Professional Services from January 1, 2020 to January 31, 2020

hase	007	Project Management				
rofessional	l Personnel					
			Hours	Rate	Amount	
Sr. Envir	onmental Planner	/Proj. Manager				
Frier	nd, Scott	1/13/2020	1.00	185.00	185.00	
	Staff Report prepa	aration				
Frier	nd, Scott	1/15/2020	1.50	185.00	277.50	
	PC meeting prepa	aration; meeting with Sharon re:	agenda			
	nd, Scott	1/16/2020	1.50	185.00	277.50	
	Review/editing/wo	ork on draft staff report package				
	nd, Scott	1/23/2020	2.50	185.00	462.50	
	staff report review					
	nd, Scott	1/24/2020	2.50	185.00	462.50	
	Staff report edits					
	Totals		9.00		1,665.00	
	Total La	bor				1,665.00
				Total this	Phase	\$1,665.00
				Total this I	nvoice	\$1,665.00

Authorized By:

Data

2.14.2000)

05180

CITY OF ORLAND

ORLAND, CA 95963

Vendor Vendor Name Date 03/31/20 Ck # 051804

ECO01 ECORP CONSULTING, INC

Invoice ID	Inv Date	Invoice Description	Gross	Discount	Total
9575,9687-	Mar 27 2020	ORLAND SUNNY TRUCK WASH, PROFESSIONAL FEB	9,587.16		9,587.1
``					
		Totals	9,587.16	.00	9,587.16

CITY OF ORLAND

815 FOURTH ST. ORLAND, CA 95963 UMPQUA BANK (1-866-486-7782) 96-505/1232 50090

051804

0

No.

PAY ********9,587*DOLLARS*AND*16*CENTS**

03/31/20

PAY EXACTLY *****9,587.16*

TO THE ORDER OF

ECORP CONSULTING, INC 2525 WARREN DRIVE ROCKLIN CA 95677 TWO SIGNATURES REQUIRED FOR AMOUNTS OVER \$1000

James Parchell

To be completed by requesting department	:		
Date Submitted: 3/27/20			
Vendor # ECO01			
Make warrant payable to: EC Address: City and State:	ORP	/	
Invoice # or Statement Date:	89575 & 89	687	
Description of Item(s) purcha	sed: Orland	l Sunny Tro	uck Wash. Professional Feb 2020
00 <u>5060</u> <u>210</u> 27 <u>5400</u> <u>210</u>	\$	8,199.66	Professional Services Sewer
73 <u>6274</u> <u>210</u> 2239	\$	1,387.50	Recreation Grant Orland Truck Wash
	\$ \$ \$		
	\$		
Amount of Request:	\$	9,587.16	*
Authorizing Signature:		PRC	
, tathen zing eighatare.			
To be completed by Finance: Date received:			
Date received: Date paid: Warrant Number:			

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

March 10, 2020

Project No:

2017-161.02

Invoice No:

89575

City of Orland 815 Fourth Street Orland, CA 95963

Project

2017-161.02

City of Orland - On-Call Planning 2019/2020

Senior Planner \$110 Senior Planner/Project Manager \$120 Assistant Planner \$85

Professional Services from February 1, 2020 to February 29, 2020

Phase 001 On-Call Planning Support

Pro

ofessional Personnel				
		Hours	Rate	Amount
Sr. Environmental Planner				
Martin, Michael General Plan Annual	2/11/2020 Report	1.00	120.00	120.00
Martin, Michael General Plan Annual	2/12/2020	3.00	120.00	360.00
Assistant Environmental Plani	ner			
Lester, Claire	2/3/2020	.50	85.00	42.50
Prepared an NOE for of slurry seal on black	the 6th street maintenan ktop.	ce project: the a	application	
Lester, Claire	2/4/2020	.50	85.00	42.50
Created an SB 743 (\	VMT) FAQ sheet for the C	City.		
Lester, Claire	2/5/2020	1.00	85.00	85.00
Orland Sunny Truck S	vision to a piece of inform Service Center staff repor he Liberty Bell Courtyards	t attachments. ().5 hours:	
Lester, Claire	2/7/2020	.50	85.00	42.50
	alley maintenance proje	ct.		
Lester, Claire	2/10/2020	1.00	85.00	85.00
Completed home occ Mendoza.	upation permit and condit	ions of approva	l for L.	
Lester, Claire	2/12/2020	.50	85.00	42.50
	unny Truck Service Cent flect staff's new recomme		for the PC	
Lester, Claire	2/13/2020	2.00	85.00	170.00
Finalized the PC Sunremoved highlighting a Saved documents as	ny Truck Service Staff Re and clarified final permit n PDFs.	ports and Attac numbers and de	nments- tails.	
Lester, Claire	2/20/2020	2.50	85.00	212.50
the Sunny Truck Serv Created NOE for Mex	eeting presentation to be ice Center Project. Printe cali Taqueria. 1 hr: Create for Woodward Garden Ap	d meeting mate ed routing letter	rials 0.5 hr:	
Lester, Claire	2/21/2020	3.50	85.00	297.50
	e Orland Planning Comm iff report for Orland Sunny			

Project	2017-161.02	City of Orland On-C	all Planning 19)/20	Invoice	89575
	Lester, Claire	2/24/2020	6.00	85.00	510.00	
	1 hr: City Council star for the Red Roof Hote	aff report for the Orland S ff report for amended ADI el Project- put together a s with the tech study scop	J laws. 1 hr: C draft letter to the	ity Planning ne applicant		
	Lester, Claire	2/26/2020	2.50	85.00	212.50	
	Truck Service Center Project- reviewed the letter to the Applicant reflect this has been or	ft City Council staff report 1 hr: City Planning for for draft traffic study for the regarding tech studies no done.	or the Red Roo project and up	f Hotel dated the		
	Lester, Claire	2/27/2020	1.00	85.00	85.00	
		Early Action Plan (LEAP) and elements of the next get justice).				
	Lester, Claire	2/28/2020	1.00	85.00	85.00	
	Finalized the LEAP m	emo and general plan up	date information	onal memos.		
Sr. I	Environmental Planner/Pro	j. Manager				
	Friend, Scott	2/3/2020	1.50	120.00	180.00	
	Farsai RFP response	s and questions; NOE for	Ken re: Sixth	St. paving		
	Friend, Scott Call re: SB2 matrix fol	2/5/2020 low-ups	6.50	120.00	780.00	
	Friend, Scott	2/6/2020	2.00	120.00	240.00	
		ckage; contacts re: signs				
	Friend, Scott	2/7/2020	2.50	120.00	300.00	
	Emails and Calls; Sun	그리 적하는 것이 없어 있는데 맛이 되었다는 것 같은데 하다 하는데 없다.	7.00	400.00	040.00	
	Friend, Scott	2/12/2020	7.00	120.00	840.00	
	On-site contract staffir Friend, Scott	2/13/2020	5.50	120.00	660.00	
		hearing package prep.; S			660.00	
	Friend, Scott	2/14/2020	4.00	120.00	480.00	
	Sunny Truck Wash PC		1,00	120.00	100.00	
4	Friend, Scott	2/19/2020	6.50	120.00	780.00	
	On-call, on-site plannii			1.541.54	11.771.75	
	Friend, Scott	2/20/2020	4.00	120.00	480.00	
		and meeting preparation		1-910-1		
I	Friend, Scott	2/21/2020	2.00	120.00	240.00	
	Post PC meeting follow		4.00	100.00	400.00	
		2/24/2020 Sunny Truck Wash calls; (1.00 calls re: RFP fo	120.00 or	120.00	
	Commerce Plaza Friend, Scott	2/25/2020	.50	120.00	60.00	
4	Calls re: fence at end of	of 5th St.; call re: South S			00.00	
	on Country Drive Friend, Scott	2/26/2020	2.50	120.00	300.00	
,		ommissioners Academy t			300.00	
		nage; HCD LEAP grant fu				
F	Friend, Scott	2/27/2020	1.50	120.00	180.00	
	emails and calls (x7)(B property owner ?'s;	ecky J re: south st; OUSE) sign; Ken re:	South St.		
F	riend, Scott	2/28/2020	1.00	120.00	120.00	
		Orland Family Apts. Enviro				
	Totals	The section of the se	74.50		8,152.50	
	Total Labor					8,152.50

Project	2017	'-161.02	City of Orland On-Call Planning 19/2	0 Invoice	89575	
Reimbursa	ble Expe	enses				
Reimbu	ursable E	xpenses				
2/5/	2020	Scott M Friend	2/5 Mileage	23.58		
2/20	0/2020	Scott M Friend	2/20 Mileage	23.58		
		Total Reimbur	sables	47.16	47.16	
				Total this Phase	\$8,199.66	
				Total this Invoice	\$8,199,66	

Authorized By: Scott Friend Cochran Date: 3.10.2020

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

March 18, 2020

Project No:

2019-045

Invoice No:

89687

City of Orland 815 Fourth Street Orland, CA 95963

Sunny

Project

2019-045

Orland Truck Wash and Annexation Area Project EIR

Professional Services from February 1, 2020 to February 29, 2020

Phase **Project Management Professional Personnel** Hours Rate Amount Sr. Environmental Planner/Proj. Manager 1.00 185.00 185.00 Friend, Scott 2/7/2020 CEQA findings review Friend, Scott 2/10/2020 1.00 185.00 185.00 Review of findings for PC staff report 2/19/2020 185.00 277.50 Friend, Scott 1.50 PC meeting preparation 185.00 462.50 Friend, Scott 2/20/2020 2.50 Sunny Truck Wash PC public hearing 2/21/2020 1.00 185.00 185.00 Friend, Scott Post-PC meeting follow-up Friend, Scott 2/24/2020 .50 185.00 92.50 Call with Northstar re: edits to staff report and findings and conditions 7.50 1,387.50 Totals **Total Labor** 1,387.50 **Total this Phase** \$1,387.50

Total this Invoice

\$1,387.50

Authorized By:

Michael (Martin

Date:

3.18.202

05187 CITY OF ORLAND ORLAND, CA 95963

Vendor Vendor Name Date 04/16/20 Ck # 051877

ECO01 ECORP CONSULTING, INC

Invoice ID	Inv Date	Invoice Description	Gross	Discount	Total
9797,9790-	Apr 14 2020	PROFESSIONAL SVCS MARCH2020, SUNNY TRUCK W	10,762.35		10,762.3
		Totals	10,762.35	.00	10,762.35

CITY OF ORLAND

815 FOURTH ST. ORLAND, CA 95963 UMPQUA BANK (1-866-486-7782)

No. 051877

0

PAY *******10,762*DOLLARS*AND*35*CENTS**

CHECK DATE 04/16/20

96-505/1232

50090

PAY EXACTLY ****10,762.35*

TO THE ORDER OF

ECORP CONSULTING, INC 2525 WARREN DRIVE ROCKLIN CA 95677 TWO SIGNATURES REQUIRED FOR AMOUNTS OVER \$1000

James Laschall

To be completed by requesting department:	
Date Submitted: 4/13/20	
Vendor # ECO01	
Make warrant payable to: ECORP Address: City and State:	
Invoice # or Statement Date: 8979	7/89190
	Professional March 2020 / Sunny Truck Wash
	j
00 5060 210 27 5400 210 73 6274 210 00 2239	\$ 8,317.35 Professional Services Sewer Recreation Grant 3,445.00 Orland Truck Wash
	\$ \$
	\$ \$
	\$
Amount of Request:	\$ 10,762.35
Authorizing Signature: アアC	
To be completed by Finance: Date received: Date paid: Warrant Number:	

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

April 7, 2020

Project No: Invoice No: 2017-161.02

89797

City of Orland 815 Fourth Street Orland, CA 95963

Project

2017-161.02

City of Orland - On-Call Planning 2019/2020

Senior Planner \$110 Senior Planner/Project Manager \$120

Assistant Planner \$85

Professional Services from March 1, 2020 to March 31, 2020

Phase	001	On-Call Planning Support				
Professional Pe	rsonnel					
			Hours	Rate	Amount	
Sr. Environm	ental Planner					
Martin, N	1ichael	3/3/2020	7.00	120.00	840.00	
2019	GP/HE Ann	ual Report and PC staff report				
Martin, N	lichael	3/4/2020	3.00	120.00	360.00	
2019	GP/HE Ann	ual Report and PC staff report				
Martin, M	lichael	3/6/2020	1.00	120.00	120.00	
2019	GP/HE Ann	ual Report and PC staff report				
Martin, M	lichael	3/24/2020	1.00	120.00	120.00	
subr	nittal of GP ar	nnual Report to HCD and OPR				
Assistant Env	vironmental P	lanner				
Lester, C	laire	3/5/2020	.50	85.00	42.50	
		ch to find applicable VMT thresho e General Plan to comply with ne				
Lester, C	laire	3/6/2020	3.00	85.00	255.00	
repo requ	rts with the Ci est from HCD	ouncil ADU and Sunny Truck Serv ty Planner. Began updating SB 2	app. base	starr d on		
Lester, C	laire	3/9/2020	2.00	85.00	170.00	
Final	ized revisions	s to SB 2 application requested by	HCD.			
Lester, C		3/11/2020	1.00	85.00	85.00	
	ted a staff rep objectives.	oort for discussion of Planning Co	nmission 2	2020 goals		
Lester, Cl	aire	3/13/2020	1.00	85.00	85.00	
		Orland Sunny Truck Service Cente ited draft Planning Commission o				
Lester, Cl	aire	3/20/2020	3.50	85.00	297.50	
for ci	ty boundary li y housing.	cell tower site plan review. 1 hour: nes. 1 hour: Created list of develo	pable land	for multi-		
Lester, Cl	aire	3/23/2020	3.00	85.00	255.00	
hrs: le maps	dentified land and tables.	AS census maps at FedEx for exp developable for multi-family resid				
Lester, Cl		3/24/2020	1.50	85.00	127.50	
ldenti sites.		ly of utility connections for multi-fa	mily devel	opment		

Project	2017-161.02	City of O	rland On-Call	Planning 19	/20	Invoice	89797
Sr. E	nvironmental Planr	ner/Proj. Manager					
F	Friend, Scott	3/2/2	2020	1.00	120.00	120.00	
	Contacts with A Willows re: Cou	Angie re: Commerce unty GP meetings	Plaza RFP ar	nd letters; ca	III from		
F	riend, Scott		2020	1.50	120.00	180.00	
		Colletti re: South St. ICD and OPR	property; 2019	Annual Ho	using and		
F	riend, Scott	3/4/2	2020	4.00	120.00	480.00	
		nissioner's Academy					
F	riend, Scott	3/5/2		6.50	120.00	780.00	
		office hours/staffing		0.00	.20.00	, , , , ,	
-	riend, Scott	3/6/2		1.50	120.00	180.00	
,	Emails (SB2 an	nd LEAP funding); fol with Janet re: Penb	llow-up with C	ounty re: RE		100.00	
	riend, Scott	3/9/2		1.00	120.00	120.00	
		fication with Angle	.020	1.00	120.00	120.00	
	1909 877 1937 1937		2020	6.50	120.00	780.00	
	riend, Scott On-call, on-site						
F	riend, Scott	3/12/2		.50	120.00	60.00	
	Call with Summ potential (Collet	er Lee (Realtor) re: tit parcels)	South Street z	coning and d	evelopment		
F	riend, Scott	3/13/2 calls re: zoning check		2.00	120.00	240.00	
F	riend, Scott	3/16/2		3.00	120.00	360.00	
		inny Truck Wash)	.020	0.00	120.00	000.00	
E	riend, Scott	3/18/2	020	6.50	120.00	780.00	
	Office staffing, of		020	0.50	120.00	700.00	
_	riend, Scott	3/24/2	020	.50	120.00	60.00	
Г						00.00	
-	riend, Scott	ial MFR developer re 3/25/2		5.00	120.00	600.00	
	Sunny Truck Wa	ash Noticing; BAS Fowith Northstar re: an	orms; 2nd rea	ding for ADL	J Ord. and	000.00	
F	riend, Scott	3/26/20	020	1.50	120.00	180.00	
		to prepare for 2nd r	eadings for S				
Fr	iend, Scott	3/27/20	020	2.50	120.00	300.00	
		n Meeting and follow					
Fr	iend, Scott	3/30/20		1.50	120.00	180.00	
		nmunication; Verizor		207.2			
	Totals	mamodion, vonzor		72.50		8,157.50	
	Total L	_abor		72.00		0,107.00	8,157.50
eimburs	able Expenses						
Reimb	ursable Expenses						
	2/2020 Claire	Lester	3/12 Mil	eage		28.75	
0, 1		Reimbursables	· · · ·	5-		28.75	28.75
nit Billing							
	ite @ 57.5						
3/31/20		y Mileage				131.10	
3/3/1/20	Total U					131.10	131.10
	Total	Jinto			Total #L!-		
					Total this	rnase	\$8,317.35
					Total this li	nvoice	\$8,317.35

Project	2017-161.02	City of Orland On-Call Planning 19/20		Invoice	89797	
Outstandi	ng Invoices					
	Number	Date	Balance			
	89575	3/10/2020	8,199.66			
	Total		8,199.66			

Authorized By: Gloria Cochran

For Scott Friend

Date: 4.7.2020

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

April 6, 2020

Project No: Invoice No: 2019-045 89790

City of Orland 815 Fourth Street

Orland, CA 95963

Project

2019-045

Orland Truck Wash and Annexation Area Project EIR

Professional Services from March 1, 2020 to March 31, 2020

Phase

006

Final EIR/NOD/MMRP

Professional Personnel

Assistant Environmental Planner

Lester, Claire 3/12/2020 2.50 90.00 225.00

Took truck wash and service center noise measurements in Corning in preparation for the City Council hearing of the Orland Sunny Truck Service Center project.

Totals 2.50 225.00

Total Labor

Total this Phase \$225.00

Total this Phase

225.00

\$2,220.00

Phase 007 Project Management **Professional Personnel** Amount Hours Rate Sr. Environmental Planner/Proj. Manager Friend, Scott 185.00 185.00 3/2/2020 1.00 CC staff report Friend, Scott 3/6/2020 2.00 185.00 370.00 CC staff report Friend, Scott 3/9/2020 .50 185.00 92.50 CC staff report Friend, Scott 3/10/2020 1.00 185.00 185.00 CC staff report Friend, Scott 3/11/2020 1.00 185.00 185.00 CC staff report and CC meeting presentation Friend, Scott 3/12/2020 1.50 185.00 277.50 CC presentation Friend, Scott 3/16/2020 3.00 185.00 555.00 Council meeting preparation Friend, Scott 3/23/2020 1.00 185.00 185.00 Annexation application preparation 3/25/2020 .50 185.00 92.50 Friend, Scott Annexation application preparation Friend, Scott 3/26/2020 .50 185.00 92.50 2nd Reading of Ord. - Rezoning 12.00 Totals 2,220.00 **Total Labor** 2,220.00

Project	2019-045	Orland Truck Wasl	h and Annexation A	rea	Invoice	89790	
				Total this Invoice		\$2,445.00	
Outstandir	ng Invoices						
	Number	Date	Balance				
	89687	3/18/2020	1,387.50				
	Total		1,387.50				

Authorized By: Gloria Cochran Date: 4.6.2020

For Michael Martin

Vendor Vendor Name Date 05/27/20 Ck # 052079 ECO01 ECORP CONSULTING, INC Invoice ID Inv Date Invoice Description Discount Total Gross 90120-May 22 2020 1,122.50 1,122.50 Plan/Sunny Truck Wash 052078 Total SQUA BANK .00 1,1225/50 (1-866-486-7782) CITY OF ORLAND No. 815 FOURTH ST. **ORLAND, CA 95963** CHECK DATE PAY EXACTLY PAY *******1,122*DOLLARS*AND*50*CENTS** 05/27/20

TO THE ORDER OF

ECORP CONSULTING, INC 2525 WARREN DRIVE ROCKLIN CA 95677

*****1,122.50*

TWO SIGNATURES REQUIRED FOR AMOUNTS OVER \$1000

"O5207B" ::123205054: 000705113/11

be completed by requesting department: Pate Submitted: 5/22/20
endor# ECO01
lake warrant payable to: ECORP Consulting Inc. ddress: ity and State:
voice # or Statement Date: 90120
escription of Item(s) purchased: Plan/Sunny Truck Wash
<u>00</u> <u>2239</u> <u>D</u> 1,122.50
mount of Request: \$1,122.50
the invoice did not include CA sales tax-please check this box $ arpi $
uthorizing Signature:
be completed by Finance: ate received: ate paid: arrant Number:

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

May 15, 2020

Project No: Invoice No: 2019-045 90120

City of Orland 815 Fourth Street Orland, CA 95963

Project

2019-045

Orland Truck Wash and Annexation Area Project EIR

Professional Services from April 1, 2020 to April 30, 2020

Total Labor

Phase 007 **Project Management Professional Personnel** Hours Rate Amount Sr. Environmental Planner Martin, Michael 4/6/2020 1.00 145.00 145.00 billing reports 145.00 Martin, Michael 4/20/2020 1.00 145.00 CD of IS, Draft EIR, Final EIR and Appendix for public information request Sr. Environmental Planner/Proj. Manager Friend, Scott 4/2/2020 .50 185.00 92.50 Follow-up: Pre-zoning second reading Friend, Scott 4/3/2020 2.00 185.00 370.00 Annexation application work Friend, Scott 1.00 185.00 185.00 4/22/2020 Annexation file-set up Friend, Scott 4/24/2020 1.00 185.00 185.00 Glenn LAFCO annexation application package Totals 6.50 1,122.50

Total this Invoice

Total this Phase

\$1,122.50

1,122.50

\$1,122.50

Authorized By:	Gloria Cochran	Date:	5.15.2020	
for				
Michae	el Martin			

ORLAND, CA 95963 Vendor Vendor Name Date 06/11/20 Ck # 052138 ECO01 ECORP CONSULTING, INC Invoice ID Inv Date Invoice Description Gross Discount Total 90192-Jun 05 2020 8,168.60 8,168.60 Plan/professional svcs Totals .00 8,168.60 8,168.60 UMPQUA BANK 96-505/1232 No. 052138 (1-866-486-7782) CITY OF ORLAND 815 FOURTH ST. ORLAND, CA 95963 CHECK DATE PAY EXACTLY PAY ********** 168*DOLLARS*AND*60*CENTS** 06/11/20 * * * * * * 8 , 168 . 60 * TO THE TWO SIGNATURES REQUIRED FOR AMOUNTS OVER \$1000 ORDER OF ECORP CONSULTING, INC 2525 WARREN DRIVE ROCKLIN CA 95677

| | O S 2 1 3 B | | | 1 1 2 3 2 0 5 0 5 4 | O O O O O S 1 \ 3 1 | |

	d by requesting departr nitted: 6/5/20	nent:		
Vendor#	ECO01			
Make warra Address: City and St	ant payable to:	ECORP Con	sulting Inc.	
Invoice # o	r Statement Da	te: 90192		
Description	of Item(s) pure	hased: Plan/	/professional svcs	
00	<u>5060</u>	210	8,168.60	
Amount of I	Request:		\$8,168.60	
If the invoi	ce did not incl	ude CA sale.	s tax-please check this box 🏻	
Authorizing	Signature:	Adjh.		_
To be comp Date receive Date paid: Warrant Nur		ee:		

ECORP Consulting, Inc. 2525 Warren Drive Rocklin, CA 95677 (916)782-9100

May 22, 2020

Project No:

2017-161.02

Invoice No:

90192

City of Orland 815 Fourth Street Orland, CA 95963

PRC

Project

Phase

2017-161.02

City of Orland - On-Call Planning 2019/2020

Senior Planner \$110

Senior Planner/Project Manager \$120

001

Assistant Planner \$85

Professional Services from April 1, 2020 to April 30, 2020

Opportunity Zone and follow-up call

4/10/2020

Sunny Truck Wash NOD filing; work at City Hall office

3.00

120.00

360.00

Professional Personnel Hours Rate Amount Sr. Environmental Planner Martin, Michael 4/8/2020 2.00 120.00 240.00 Orland rezone CEQA analysis for Pilot Annexation Area Martin, Michael 4/17/2020 1.00 120.00 120.00 VMT VS LOS information PC Staff Report 3.00 Martin, Michael 4/27/2020 120.00 360.00 Sunny Truck Wash Annexation Application Martin, Michael 4/28/2020 2.00 120.00 240.00 Sunny Truck Wash Annexation Application Martin, Michael 4/29/2020 3.00 120.00 360.00 Sunny Truck Wash Annexation Application Assistant Environmental Planner 297.50 Lester, Claire 4/30/2020 3.50 85.00 Completed the draft memo regarding the LEAP Grant. Completed the draft staff report & NOE for CC approval of LEAP Grant application. Began determining draft projects for funding. Sr. Environmental Planner/Proj. Manager 480.00 Friend, Scott 4/1/2020 4.00 120.00 LEAP grant options paper; coorespondence with Cameron ? re: Multi-Family Housing; Coordination of Liberty Bell Senior Housing Project Cultural Resource Report to SHPO Friend, Scott 300.00 4/2/2020 Ltr. to S. Yagub re: Butte College project; calls from bank/realtor (x3); call with Ed and Ken re: sewer options on Cortina and LEAP grant potential 240.00 Friend, Scott 4/3/2020 2.00 120.00 Coordination of project files; follow-up re: SB2 funds Friend, Scott 4/6/2020 2.00 120.00 240.00 Project X fee information; CC Meeting 2nd Reading Friend, Scott 4/7/2020 .50 120.00 60.00 OPR APR filing 4/9/2020 3.50 120.00 420.00 Friend, Scott Filing of Annual APR report with HCD and OPR; call re: Impact Fees; Lynwood Phase 2 inquiry follow-up; Call with Thatch and Co. re: Orland

On-Call Planning Support

Project	2017-161.02	City of Orland On-C	Call Planning 19	9/20	Invoice	90192
	Friend, Scott	4/13/2020	3.00	120.00	360.00	
	SB2 materials; NOE calls, +emails	for Verizon project; NOD	for Sunny True	ck Wash; x4		
	Friend, Scott	4/15/2020	4.50	120.00	540.00	
	On-site, on-call office	ce hours				
	Friend, Scott	4/16/2020	1.50	120.00	180.00	
	Family Apts.; LOS t	ezoning inputs; NEPA notice o VMT PC memo; call with Coord w/County re: NPLF	Angie re: new			
	Friend, Scott	4/17/2020	3.00	120.00	360.00	
			aterials for Sun	ny Truck		
	Friend, Scott	4/20/2020	1.50	120.00	180.00	
	2nd April CC meeting inputs on Commerce	ng; NEPA support for Wood e Plaza rezoning	dward Garden	FONSI filing;		
	Friend, Scott	4/21/2020	.50	120.00	60.00	
	Call with John re: fir	al on CHIP houses; call w	ith Ken re: ? or	Tehama St.		
	Friend, Scott	4/22/2020	2.50	120.00	300.00	
		MD Mobile Auto Details H HOP for internet billing	IOP; HOP for p	ressure		
	Friend, Scott	4/23/2020	2.50	120.00	300.00	
	Call with Glenn Cou	nty / Housing Tools re: PL	HA grant project	ots		
	Friend, Scott	4/24/2020	1.50	120.00	180.00	
	Research and mater opportunities option	rials to Housing Tools (Cou study	unty) for region	al housing		
1	Friend, Scott	4/27/2020	1.50	120.00	180.00	
	Voicemails (x3); ema Butte College projec	ails (x6); Fee est. for Hotel	project; fee es	t. info. for		
1	Friend, Scott PLHA Conf. call; Off	4/29/2020 ice hours	5.00	120.00	600.00	
I	Friend, Scott	4/30/2020	1.50	120.00	180.00	
	LEAP grant report; n	naps and fee information to	Modern Bldg.	for Project		
	Totals		60.50		7,137.50	
	Total Labo	r				7,137.50
nit Billi	na					
4/30/2	Rate @ 57.5 Monthly Mi	leage			131.10	
4/30/2	020 Monthly Mi Total Units				131.10	131.10
	Total Office	•			131.10	131.10
				Total this	Phase	\$7,268.60
 Phase	002	Commerce Plaza/RCM	Investments R	ezonina		
	onal Personnel			.		
			Hours	Rate	Amount	
Sr Fi	nvironmental Planner/Pro	ni Manager	Hours	itato	Amount	
	riend, Scott	4/8/2020	4.50	120.00	540.00	
	remote office hours. project delivery; Orlan call with Angie re: PR	Interested party phone call nd Opportunity Zone call; (A by Farsai attorney; call v	ls, emails, Veri Commerce Plaz	zon SPR a rezoning;	040.00	
-	Plaza rezoning	4/16/2020	EO	120.00	60.00	
F		4/16/2020 oning inputs; NEPA notice VMT PC memo; call with A			60.00	

Project	2017-161.02	City of Orland On-Ca	all Planning 19/	20	Invoice	90192
	Friend, Scott	4/20/2020	.50	120.00	60.00	
	2nd April CC meeting inputs on Commerce	g; NEPA support for Wood Plaza rezoning	ward Garden F	ONSI filing;		
	Friend, Scott	4/30/2020	2.00	120.00	240.00	
	Rezoning application	work				
	Totals		7.50		900.00	
	Total Labo	r				900.00
				Total this Phase		\$900.00
				Total this	Invoice	\$8,168.60

Authorized By:	Gloria Cochran	Date:	5.22.2020
for			